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INSTRUCTIONS 
 

1. Immediately after the commencement of the examination, you should check that this test booklet does not have any 

unprinted or torned or missing pages or items, etc. If so, request for its replacement. 

2. You have to enter your Examination Number on the Test Booklet in the Box 

        provided alongside. DO NOT write / mark anything else on the Test Booklet. 

3. This Test Booklet contains three parts as shown below. 

 No. of 

questions 

Marks Nature of 

questions 

Negative Marks 

Part – I 50 100 Objective One third for each wrong answer 

Part – II 40 100 Objective One third for each wrong answer Except for Q. Nos. 84 to 90. 

Part – III 1 100 Descriptive – 

Essay Writing 

– 

Each item is printed both in English and Marathi, except question numbers 78 to 83 which are related to English 

Language Comprehension and hence printed in English only. Each item comprises four responses (answers). You will 

select the response which you want to mark on the Answer Sheet. In case you feel that there is more than one correct 

response, mark the response which you consider the best. In any case, choose ONLY ONE response for each item. 

4. You have to attempt all questions from Part - I and Part-II [Q. Nos. 1 to 90] from 11 am to 1 pm only. You have to 

mark all your responses for this objective parts ONLY on the separate Answer Sheet provided.  

5. At 1 pm the answersheet of the objective parts will be taken back from you and a seprate answersheet for writing an 

essay  [Part - III] will be provided to you. You will have to write the essay from 1 pm to 2 pm only. The answersheet of 

essay will be taken back at 2 pm. Under any circumstances Essay writing cannot be started before 1 pm. and 

attempting objective part cannot be extended after 1 pm. 

6. Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you have to fill in 

some particulars in the Answer Sheet as per instructions sent to you with your Admit Card. 

7. After you have completed filling in all your responses on the Answer Sheet and the examination has concluded, you 

should hand over to the Invigilator only the Answer Sheet. You are permitted to take away with you the Test Booklet. 

You will not be allowed to leave the examination hall before 12 noon. 

8. Sheets for rough work are appended in the Test Booklet at the end. 

9. Penalty for wrong answers : 

         THERE  WILL  BE  PENALTY  FOR  WRONG  ANSWERS  MARKED  BY  A  CANDIDATE  in Part I and Part II EXCEPT 

FOR QUESTIONS FROM 84 TO 90, WHICH DO NOT CARRY ANY PENALTY FOR WRONG ANSWER. 

i) There are four alternatives for the answer to every question. For each question for which a wrong answer has been 

given by the candidate, one-third of the marks assigned to that question will be deducted as penalty. 

ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given answers 

happens to be correct and there will be same penalty as above to that question. 

iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that question. 

10.   Final result of this examination will be declared on or after 31.12.2013 on our website.  

        www.yashada.org/acec   
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darb gyMZm§Mo _amR>r ^mfm§Va `m àíZg§MmÀ`m eodQ>À`m nmZmda N>mnbo Amho. 
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PART – I / ^mJ - 1 
Question no. 1 : Solar energy produced on Sun’s surface is 

due to ........ 

 1) fission reaction. 2) chemical reaction. 

 3) fusion reaction. 4) unknown reactions. 

àíZ H«$. 1 : gy¶©n¥ð>mdarb D$Om© .......... ¶m‘wio {Z‘m©U hmoVo. 
 1) {dI§S>Z A{^{H«$¶m 2) amgm¶{ZH$ A{^{H«$¶m 
 3) gå‘rbZ A{^{H«$¶m 4) AkmV A{^{H«$¶m 
Question no. 2 : Aam Admi Bima Yojana (AABY) 

provides insurance coverage for which of the following 

reasons ? 

A) Loss of Life  B) Disability 

C) Hospitalisation expenses. 

 1) only A  2) only C 

 3) A and B  4) A, B and C 

àíZ H«$. 2 : Am‘ AmX‘r {~‘m ¶moOZm Imbrbn¡H$s H$moUË¶m 
H$maUm§gmR>r {d‘m godm nwadVo? 
A) {d‘oXmamMm ‘¥Ë¶y    B) An§JËd    C) é½Umb¶m-A§VJ©V IM© 
 1) ’$³V A  2) ’$³V C 
 3) A Am{U B  4) A, B Am{U C 

Question no. 3 : Consider the following statements and 

select the correct option. 

A) The Planning Commission of India is created by the 

inter-state-council. 

B) The Finance Commission of India mainly deals with 

economic resource allocation between the centre and the 

states. 

 1) A True, B False 2) A False, B True 

 3) Both A and B are True 4) Both A and B are False 

àíZ H«$. 3 : Imbrb {dYmZo {dMmamV ¿¶m d ¶mo½¶ n¶m©¶ {ZdS>m. 
A) ^maVmÀ¶m ¶moOZm Am¶moJmMr {Z{‘©Vr Am§VaamÁ¶ ‘§S>imH$Sy>Z Ho$br 

OmVo. 
~) ^maVmMm {dÎm Am¶moJ hm àm‘w»¶mZo H|$Ð gaH$ma Am{U KQ>H$ amÁ¶o 

¶m§À¶mV Am{W©H$ gmYZgm‘wJ«rÀ¶m dmQ>nmer g§~§{YV Amho. 
 1) A ~amo~a, ~ MyH$ 2) A MyH$, ~ ~amo~a 
 3) A Am{U ~ XmoÝhr ~amo~a 4) A Am{U ~ XmoÝhr MyH$$ 
Question no. 4 : Which of the following statement/s is/are 

true or false? 

A) The factor that affects Indian monsoon the most is         

 ‘El Nino’. 

B) The onset dates of the Indian monsoon over the 

peninsula are earliest in the south and latest in the north 

 1) A – false, B – true 2) A – false, B – false 

 3) A – true, B – true 4) A – true, B – false 
àíZ H«$. 4 : Imbrbn¡H$s H$moUVo {dYmZ/Zo MyH$ qH$dm ~amo~a 
Amho/V? 
A) ̂ maVr¶ ‘mÝgyZda gdm©{YH$ n[aUm‘ H$aUmam KQ>H$ åhUOo         

Eb {ZZmo hmo¶. 
~) ^maVr¶ CnI§S>mda ‘mÝgyZÀ¶m AmJ‘ZmÀ¶m VmaIm X{jUoH$S>o 

gdm©V AmYr d CÎmaoH$S>o gdm©V Z§Va AgVmV. 
 1) A - MyH$, ~ - ~amo~a 2) A - MyH$, ~ - MyH$ 
 3) A - ~amo~a, ~ - ~amo~a 4) A - ~amo~a, ~ - MyH$ 
Question no. 5 : Match the following. 

A Group  B Group 

A) Imadshahi 1) Bijapur 

B) AdilShahi 2) Golkonda 

C) Qutubshahi 3) Ahmednagar 

D) Nizamshahi 4) Warhad 

àíZ H«$. 5 : OmoS>çm Owidm. 

A JQ> B JQ> 

A) B‘mXemhr 1) {dOmnya 

B) Am{Xbemhr 2) JmodiH$m|S>m 

C) Hw$Vw~emhr 3) Ah‘XZJa 
D) {ZOm‘emhr 4) dèhmS> 

 1) A – 4,  B – 1, C – 2,  D – 3 

  2) A – 4,  B – 1, C – 3,  D – 2 

 3) A – 1,  B – 4, C – 2,  D – 3 

 4) A – 1,  B – 4, C – 3,  D – 2 

Question no. 6 : Read the following statements regarding 

 tyre bursting on highways made up of cement concrete. 

A) Tyre bursting occurs due to very high speed driving, 

low air pressure and extra load. 

B) TPMS technology alarms for low air pressure and extra 

load. 

C) There is legal compulsion for the use of TPMS in India. 

 Which of the above statement/s is  / are correct? 

 1) A and B only 2) only C 

 3) only B  4) only A 

àíZ H«$. 6 : {g‘|Q> H$m±H«$sQ>nmgyZ ~Z{dboë¶m ‘mJm©darb Q>m¶a 
’w$Q>Ê¶mg§~§Yr Imbrb {dYmZo dmMm. 
A) dmhZmMm AVr doJ, MmH$mVrb hdoMm H$‘r Xm~ Am{U A{V[a³V ^ma 

hr Q>m¶a ’w$Q>Ê¶mMr H$maUo AmhoV. 
B) Q>r. nr. E‘. Eg ¶m V§ÌkmZm‘wio MmH$mVrb hdoÀ¶m H$‘r Xm~mg§~§Yr 

d A{V[a³V ^mamg§~§Yr Ymo³¶mMr gyMZm {‘iVo. 
C) ^maVmV Q>r. nr. E‘. Eg. V§ÌkmZ dmnaÊ¶mMr d¡Ym{ZH$ g³Vr  

Amho. 
darbn¡H$s H$moUVo/H$moUVr {dYmZ/{dYmZo ¶mo½¶ Amho/AmhoV? 
 1) A Am{U B ’$³V 2) ’$³V C 
 3) ’$³V B  4) ’$³V A 
Question no. 7 : Consider the following statements. 

A) As the country progresses further, the manufacturing 

sector takes a back seat and give a way to service sector 

in terms of both output and employment. 

B) As the country progresses further, manufacturing sector 

becomes increasingly a service sector. 

Which of the statement/s given above is/are correct? 

 1) only A  2) only B 

 3) Both A and B 4) neither A nor B 

àíZ H«$. 7 : Imbrb {dYmZm§Mm {dMma H$am. 
A) OgOer amï´>mMr àJVr hmoV OmVo VgVgo CËnmXZ joÌ ‘mJo nS>Vo d 

godm joÌ amoOJma d CËnmXZmÀ¶m ~m~VrV nwT>o OmVo. 
B) OgOer amï´>mMr A{YH$ àJVr hmoV OmVo VgVgo CËnmXZ joÌ 

dmT>Ë¶m à‘mUmV godm joÌ ~ZVo. 
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV? 
 1) ’$³V A  2) ’$³V B 

 3) A Am{U B XmoÝhrhr 4) A Am{U B XmoÝhrhr Zmhr 
Question no. 8 : Which of the following parliamentary 

committees is the oldest committee constituted under 

the Government of India Act, 1919? 

 1) Business and Advisory Committee 

 2) Privileges committee 

 3) Committee on Public undertakings 

 4) Public Accounts Committee  



3 

àíZ H«$. 8 : Imbrbn¡H$s H$moUVr g§gXr¶ g{‘Vr ^maV gaH$maÀ¶m 
1919 À¶m H$m¶Úm§VJ©V ñWmnZ H$aÊ¶mV Ambr hmoVr? 

 1) ì¶mnma Am[U g„m{df¶H$ g{‘Vr 

 2) {deofm{YH$ma g{‘Vr 

 3) gmd©O{ZH$ CÚmoJ g{‘Vr 

 4) bmoH$ boIm g{‘Vr 

Question no. 9 : Which of the following Industrial belts are 

associated with Deccan Plateaus?  

A) Hoogali – Kolkata B) Pune – Pimpri 

C) Mumbai – Thane D) Madurai – Coimbatore 

E) Delhi – Meerat F) Hydrabad–Secunderabad 

 1) A, D, B 2) E, D, C 3) F, B, D  4) F, C, A 

àíZ H«$. 9 : Imbrbn¡H$s H$moUVo Am¡Úmo{JH$ nÅ>o X»IZÀ¶m nR>mamer 
g§~§{YV AmhoV? 

A) hþJir - H$mobH$mVm ~) nwUo - qnnar 

H$) ‘w§~B© - R>mUo  S>) ‘XþamB© - H$moBå~Vya 

B) {X„r - ‘oaR>  ’$) h¡Xam~mX - {gH§$Xam~mX 

 1) A, S>, ~ 2) B, S>, H$ 3) ’$, ~, S> 4) ’$, H$, A 

Question no. 10 : Assertion (A) : Among the numerous 

Rajput clans which rose into prominence in the 10th 

century AD, four claimed a special status and started 

calling themselves the ‘Agnikula’. 

Reason (R) : The Four ‘Agnikula’ clans which dominated 

early Rajput politics claimed descent from a mythical figure 

who rose out of a sacrificial fire pit near Mt. Abu. 

 1) A is correct, but R is wrong 

 2) A is wrong, but R is correct 

 3) Both A and R are correct and R is the correct 

explanation for A 

 4) Both A and R are correct but R is not correct 

explanation for A 

àíZ H«$. 10 : {dYmZ (A) : 10 ì¶m eVH$mV Mma amOnyV KamUr 
àm‘w»¶mZo nwT>o Ambr. Ë¶m§Zm ‘A¾rHw$b’ åhQ>bo OmD$ bmJbo. 

H$maU (R) : hr Mma KamUr amOnyV amOH$maUmV dM©ñd JmOdy bmJbr. 
nwamUmZwgma Ë¶m§À¶m nyd©Om§Mm OÝ‘ ‘mD§$Q> A~yÀ¶m A{¾hmoÌmVyZ Pmbobm 
Amho Agm Ë¶m§Mm Xmdm hmoVm. 

 1) A ho ~amo~a Amho, nU R MwH$sMo Amho. 

 2) A ho MwH$sMo, nU R ho ~amo~a Amho. 

 3) A Am{U R ho ~amo~a AmhoV. Am{U R ho A Mo ¶mo½¶ 
ñnï>rH$aU Amho. 

 4) A Am{U R ho ~amo~a AmhoV nU R ho A Mo ¶mo½¶ ñnï>rH$aU 
Zmhr. 

Question no. 11 : It takes longer time to cook food on hills 

than on plains because ......... 

 1) There is humidity in air on hills. 

 2) The atmospheric pressure is less and so boiling 

point is low.  

 3) The atmospheric pressure is high and so boiling 

point is low. 

 4) The atmospheric pressure is less and so boiling 

point is high. 

àíZ H«$. 11 : S>m|Jami ^mJmV AÝZ {eO{dÊ¶mg nR>mamnojm OmñV doi  
bmJVmo H$maU .... 

 1) S>m|Jami ^mJmVrb hdoV AmÐ©Vm AgVo. 

 2) dmVmdaUr¶ Xm~ H$‘r AgVmo d åhUyZ CËH$bZ q~Xÿ H$‘r 
     AgVmo. 

 3) dmVmdaUr¶ Xm~ OmñV AgVmo d åhUyZ CH$i q~Xÿ H$‘r 
     AgVmo. 

 4) dmVmdaUr¶ Xm~ H$‘r AgVmo d åhUyZ CH$i q~Xÿ OmñV  

     AgVmo. 

Question no. 12 : ‘SMP’ stands for ...... 

 1) Statutory Minimum Price 

 2) Standard Minimum Price 

 3) Selling Minimum Price 

 4) None of the above 

àíZ H«$. 12 : ‘Eg E‘ nr’ Mo nyU© ê$n ......... ho Amho. 

 1) ñQ>°À¶wQ>ar {‘{Z‘‘ àmB©g 2) ñQ>°§S>S>© {‘{Z‘‘ àmB©g 

 3) goqbJ {‘{Z‘‘ àmB©g 4) darbn¡H$s H$moUVohr Zmhr. 

Question no. 13 : Consider the following statements and 

select the correct alternative. 

A) The Election Commission of India in not concerned 

with the election to local governments. 

B) The Election Commission of India, now is a multi-

member  body. 

C) The decisions of the Election Commission of India can 

be challenged in the High Courts and the Supreme Court 

of India. 

 1) A and B are true, C is false 

 2) A and C are true and B is false 

 3) A, B and C are true 

 4) A is false and B, C are true 

àíZ H«$. 13 : Imbrb {dYmZo {dMmamV ¿¶m Am{U ¶mo½¶ n¶m©¶ {ZdS>m. 

A) ̂ maVmÀ¶m {ZdS>UyH$ Am¶moJmMm ñWm{ZH$ emgZ g§ñWm§À¶m 
{ZdS>UwH$s¨er g§~§Y ZgVmo. 

~) gÜ¶m ^maVmMm {ZdS>UyH$ Am¶moJ ~hþgXñ¶r¶ Amho. 

H$) ̂ maVmÀ¶m {ZdS>UyH$ Am¶moJmÀ¶m {ZU©¶m§Zm CÀM Ý¶m¶mb¶mV VgoM 
gdm}ƒ Ý¶m¶mb¶mV AmìhmZ XoVm ¶oVo. 

 1) A Am{U ~ ~amo~a, H$ MyH$ 

 2) A Am{U H$ XmoÝhr ~amo~a, ~ MyH$ 

 3) A, ~ Am{U H$ {VÝhr {dYmZo ~amo~a 

 4) A MyH$, ~ Am{U H$ ~amo~a 

Question no. 14 : Why have airways replaced seaways as 

major mode of international travel? 

A) Air travel saves lot of time 

B) Sealanes have become more unsafe due to rising piracy. 

C) Airways are more efficient. 

D) The over-all standard of living of people has gone up. 

E) Airways are most suitable to modern way of life. 

F) Importance of waterways decreased rapidly after the fall 

of British empire. 
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àíZ H«$. 14 : Am§Vaamï´>r¶ àdmgmMo à‘wI gmYZ åhUyZ dm¶y‘mJm©Zo 
Ob‘mJm©Mo ñWmZ H$m {‘idbo Amho? 
A) hdmB© àdmgm‘wio ^anya doi dmMVmo. 
B) dmT>Ë¶m gmJar MmMo{Jar‘wio Obàdmg Ymo³¶mMm ~Zbm Amho. 
C) dm¶y‘mJ© A{YH$ H$m¶©j‘ AmhoV. 
D) bmoH$m§Mo gd©gmYmaU amhUr‘mZ gwYmabo Amho. 
E) AmYw{ZH$ OrdZnÕVrbm dm¶y‘mJ© ho ¶mo½¶ gmYZ Amho. 
F) {~«{Q>e gm‘«mÁ¶mÀ¶m b¶mZ§Va Ob‘mJm©Mo ‘hÎd doJmZo KQ>bo Amho. 
 1) F, A, B, D  2) B, F, E, C 

 3) A, C, D, E  4) F, C, B, A 

Question no. 15 : Which one of the following statements 

did not form a part of the contribution of Marthwada in the 

struggle for the liberation of Hyderabad ? 

 1) Swami Ramanand Tirth, Govindbhai Shroff, 

Babasaheb Paranjape played a significant role. 

 2) Students participated in the struggle through the 

‘Vande Materam’ Movement. 

 3) Ashatai Waghmare, Dagdabai Shelake took part 

in the struggle for liberation. 

 4) In this historic struggle Vishwanath Lavande, 

Peter Alvares and others embraced martyrdom. 

àíZ H«$. 15 : Imbrbn¡H$s H$moUVo {dYmZ h¡Xam~mX ‘wp³Vg§J«m‘mVrb 
‘amR>dmS>m À¶m ¶moJXmZmMm ^mJ Zmhr? 
 1) ñdm‘r am‘mZ§X VrW©, JmoqdX ^mB© lm°’$, ~m~mgmho~ nam§Ono 

¶m§Zr ‘m¡{bH$ ¶moJXmZ {Xbo. 
 2) d§Xo‘mVa‘ MidirÛmao {dÚmWu h¡Xam~mX ‘wp³VbT>çmV 

gh^mJr Pmbo. 
 3) h¡Xam~mX ‘wp³V g§J«m‘mV AmemVmB© dmK‘mao, XJS>m~mB© eoiHo$ 

¶m ‘{hbm§Mm g{H«$¶ gh^mJ hmoVm. 
 4) ¶m Eo{Vhm{gH$ bT>çmV {dídZmW bd§Xo, nrQ>a Aëdm[ag 

BË¶mXtZr hm¡VmËå¶ nËH$abo. 
Question no. 16 : A Rain drop is spherical in shape 

because of ...... 

 1) surface tension. 2) capillary action. 

 3) atmospheric pressure. 4) viscosity. 

àíZ H«$. 16 : nmÊ¶mMm W|~ hm .......... ‘wio JmobmH$ma AgVmo. 
 1) n¥ð>r¶ VmU  2) Ho$emH$f©U 
 3) dmVmdaUr¶ Xm~ 4) {dî¶§XVm 
Question no. 17 : According to Census 2011, states with 

the highest and lowest density of population are ....... 

 1) Bihar and Arunachal Pradesh 

 2) Uttar Pradesh and Mizoram 

 3) West Bengal and Sikkim 

 4) Uttar Pradesh and Manipur 

àíZ H«$. 17 : 2011 À¶m OZJUZoZwgma, gdm©V OmñV d gdm©V H$‘r 
bmoH$g§»¶oMr KZVm AgUmar amÁ¶o ........ 

 1) {~hma d AéUmMb àXoe 2) CÎma àXoe d {‘Pmoam‘ 
 3) npíM‘ ~§Jmb d {g¸$s‘ 4) CÎma àXoe d ‘{Unya 
Question no. 18 : Now that “None of the Above” (NOTA) 

option would appear on the electronic voting machine. 

What would be its consequence ?  

 1) Defeat of undesirable candidates 

 2) Rejected candidates would be declared as 

     disqualified 

 3) If “None of the Above” option votes exceed 50% 

limit, reelection will be held. 

 4) None of the Above 

àíZ H«$. 18 : AmVm Bbo³Q´>m°{ZH$ ‘VXmZ ¶§Ìmda “¶mn¡H$s H$moUr Zmhr” 
hm n¶m©¶ CnbãY hmoUma Amho. Ë¶mMm n[aUm‘ H$m¶ hmoB©b? 

 1) ZH$mo Agboë¶m C‘oXdmamMm nam^d hmoB©b. 
 2) ZH$ma {‘imbobo C‘oXdma AnmÌ R>aVrb. 

 3) “¶mn¡H$s H$moUr Zmhr” n¶m©¶mMr ‘Vg§»¶m 50% nojm A{YH$  
     Pmë¶mg nwÝhm {ZdS>UyH$ hmoB©b. 
 4) ¶mn¡H$s H$mhr Zmhr. 
Question no. 19 : Which of the following is/are correct 

statement/s? 

a) Loess deposits in China have been derived from sand 

blown from Gobi desert. 

b) Solution holes ore located in limestone region. 

c) Basalt rock is Maharashtra is an igneous intrusive rock. 

d) Potholes are created is river bed   

 1) only d  2) a, b and c together 

 3) a, b and d together 4) b, c and d together 
àíZ H«$. 19 : Imbrbn¡H$s H$moUVo {dYmZ/{dYmZo gË¶ Amho/AmhoV? 
a) MrZ‘Yrb bmoEg ‘¡XmZ ho Jmo~r dmid§Q>mVyZ dmhÿZ Amboë¶m d 

{Zjo{nV Pmboë¶m dmiy‘wio V¶ma Pmbobo Amho. 
b) {db¶{N>Ðo hr MwZIS>H$mÀ¶m àXoemV AmT>iVmV. 
c) ~ogmëQ> hm ‘hmamï´>mVrb A§V{Z{‘©V A{¾O IS>H$ Amho. 
d) Hw§$^JVm© ho ZXr nmÌmV V¶ma hmoVmV. 
 1) ’$³V d  2) a, b d c EH$Ì 

 3) a, b d d EH$Ì 4) b, c d d EH$Ì 
Question no. 20 : Who declared, “The only hope for India, 

is from the masses. The upper classes are physically and 

morally dead.” 

 1) G. K. Gokhale 2) Narayan Guru 

 3) Swami Vivekananda 4) R. G. Bhandarkar 

àíZ H«$. 20 : “gm‘mÝ¶ OZVm hrM ^maVmgmR>r EH$‘od Amem Amho 

H$maU CƒdUu¶ ho emar[aH$ d Z¡VrH$ÑîQ>çm ‘obobo AmhoV.”  

Ago H$moUr Omhra Ho$bo? 
 1) Or. Ho$ JmoIbo 2) Zmam¶U Jwé 
 3) ñdm‘r {ddoH$mZ§X 4) Ama. Or. ^m§S>maH$a 
Question no. 21 : To an astronaut on moon, the sky 

appears ...... 

 1) bright white. 2) deep blue. 

 3) bright red. 4) pitch dark. 

àíZ H«$. 21 : A§Vamidram§Zm M§Ðmdê$Z AmH$me ....... {XgVo. 
 1) nm§T>ao ew «̂ 2) JS>X {Zio 3) bmb ^S>H$ 4) H$mio Hw$Å> 
Question no. 22 : The term ‘demographic gap’ signifies the 

difference in ........ 

 1) sex ratio  2) age 

 3) child / women ratio 4) the birth and death rate 

àíZ H«$. 22 : ‘bmoH$g§»¶m nmoH$ir’ hr g§km H$emVrb ’$aH$ Xe©dVo? 
 1) qbJ JwUmoÎma  2) d¶ 
 3) ~mb/‘{hbm JwUmoÎma 4) OÝ‘ d ‘¥Ë¶y Xa 
Question no. 23 : Which of the following commission was 

not meant for the centre state relations ? 

 1) Sarkaria Commission 

 2) Rajamannar Commission 

 3) Kalelkar Commission 

 4) Punchi Commission 

 



5 

àíZ H«$. 23 : Imbrbn¡H$s H$moUVm Am¶moJ H|$Ð amÁ¶ g§~§Ym§~Ôb 
ZìhVm? 

 1) gaH$m[a¶m Am¶moJ 2) amO‘Þma Am¶moJ 
 3) H$mbobH$a Am¶moJ 4) n§ÀN>r Am¶moJ 
Question no. 24 : Identify the correct signs and symbols 

used in Indian topographical maps. 

àíZ H«$. 24 : Imbrbn¡H$s ^maVr¶ ñWbXe©H$ ZH$memV dmnabr 
OmUmar gm§Ho${VH$ {MÝho d IwUm AmoiIm. 
A)   B) C) + 

 

D)  S E)  F)  

 

 1) E A F 2) F A D 3) B A D 4) C E B 

Question no. 25 : .......... advocated the view that, “The 

providence had ordained that the English were to rule 

India.” 

 1) Lord Elgin 2) Lord Dufferin 

 3) Lord Curzon 4) Lord Hardinge 

àíZ H«$. 25 : “X¡drg§Ho$V Agm Amho H$s {~«{Q>e ^maVmda amÁ¶ 

H$aVrb.” ho {dYmZ H$moUr Ho$bo ? 

 1) bm°S>© EpëJZ  2) bm°S>© S>’$[aZ 
 3) bm°S>© H$P©Z  4) bm°S>© hm{S>©½O 
Question no. 26 : Identify the wrong statement/s out of the  

 following. 

A) Crutzen, Molina and Sherwood shared Nobel Prize of 

1995 for their work on CFC gases. 

B) In Montrial protocol, it is agreed by many countries to 

stop production of CFC gases. 

C) CFC gases are poisonous to human health and are 

inflammable. 

 1) A and B 2) only C 3) B and C 4) only A  

àíZ H«$. 26 : Imbrbn¡H$s MwH$sMo {dYmZ/{dYmZo AmoiIm. 

A) H«y$Q>PoZ, ‘mo{bZm Am{U eoadyS> ¶m§Zm gr. E’$. gr dm¶y§À¶m g§~§Yr 
g§emoYZ H$m¶m©~Ôb 1995 Mm Zmo~ob nwañH$ma àmá Pmbm. 

B) ‘m±{Q́>¶b H$amamZwgma, ~hþVoH$ Xoem§Zr gr. E’$. gr. dm¶y§Mo CËnmXZ 
~§X H$aÊ¶mMo ‘mÝ¶ Ho$bo. 

C) gr. E’$. gr. dm¶y ‘mZdr Amamo½¶mgmR>r {dfmar AgyZ ÁdmbmJ«mhr 
AmhoV. 

 1) A Am{U B   2) ’$³V C 3) B Am{U C   4) ’$³V A 
Question no. 27 : In India, 

A) Plan expenditure consists of those schemes which are 

part of the Five Year Plan. 

B) Maintenance of assets created under plan schemes is 

also part of the plan expenditure. 

Which of the above statements is / are correct? 

 1) only A  2) only B 

 3) Both A and B 4) neither A nor B 

àíZ H«$. 27 : ^maVm‘Ü¶o - 

A) n§Mdm{f©H$ ¶moOZm§VJ©V {d{dY ¶moOZm§Mm g‘mdoe ¶moOZm IMm©V 
hmoVmo. 

B) ¶m ¶moOZm§‘YyZ {Z‘m©U Pmboë¶m ‘mb‘Îmm§Mm XoI^mb IM©hr ¶moOZm 
IMm©V AgVmo. 

darbn¡H$s H$moUVo {dYmZ/{dYmZo ¶mo½¶ Amho/AmhoV? 
 1) ’$³V A  2) ’$³V B 

 3) A Am{U B XmoÝhr 4) A Am{U B XmoÝhr Zmhr 

Question no. 28 : Which of the following imposed 

obligations on India and Pakistan “to settle their 

differences by peaceful means through bilateral 

negotiations.”   

 1) Tashkent Declaration 2) Lahore Declaration 

 3) Agra Summit 4) Simla Pact 

àíZ H«$. 28 : Imbrbn¡H$s H$moUË¶m XñVmdoOmZo ^maV Am{U 
nm{H$ñVmZ ¶m§À¶mda “Ë¶m§À¶mVrb ‘V^oX {Ûnjr¶ dmQ>mKmQ>rÀ¶m Ûmao 
em§VVoÀ¶m ‘mJm©Zo gmoS>dÊ¶mMo” ~§YZ KmVbo ? 
 1) VmíH§$X H$ama 2) bmhmoa H$ama 
 3) AmJ«m {eIa n[afX 4) {g‘bm H$ama 
Question no. 29 : Read the following statements and select 

the correct answer.   

A) Tropical deserts lie on the western margin of the 

continent. 

B) These deserts lie within the limits of trade winds. 

 1) A is true, B is false 

 2) B is true and A is false 

 3) A is correct, B is not a correct explanation of A 

 4) B is true and A is associated with B 

àíZ H«$. 29 : Imbrb {dYmZm§Mm Aä¶mg H$ê$Z ¶mo½¶ Vo CÎma emoYm. 
A) CîUH${Q>~§Yr¶ dmid§Q>o I§S>mÀ¶m npíM‘ ^mJmV AmT>iVmV. 
B) hr dmid§Q>o ì¶mnmar dmè¶m§À¶m joÌmV AmT>iVmV. 
 1) A ~amo~a Amho, B MyH$ Amho. 
 2) B ~amo~a Amho na§Vy A MyH$sMo Amho. 

 3) A ~amo~a Amho na§Vy B ho Ë¶mMo H$maU Zmhr. 

 4) B ~amo~a Amho Am{U A Mm B er g§~§Y Amho. 
Question no. 30 : Which one of the following schools of 

art, thrived during the post-Asokan period? 

A) Gandhara  B) Sarnath C) Mathura 

D) Amravati E) Nagara 

 1) A and D  2) A, B, C and D 

 3) B and E  4) A, C and B 

àíZ H«$. 30 : AemoH$mZ§VaÀ¶m H$mimV H$boÀ¶m H$moUË¶m {dÚmemIm 
{Q>Hy$Z am{hë¶m? 
A) Jm§Yma B) gmaZmW C) ‘Wwam 
D) A‘amdVr E) ZmJa 
 1) A Am{U D  2) A, B, C Am{U D 

 3) B Am[U E  4) A, C Am{U B 
Question no. 31 : Artificial light can ..... 

 1) bring about photosynthesis. 

 2) cannot bring about photosynthesis. 

 3) destroy chlorophyll. 

 4) Synthesise chlorophyll. 

àíZ H«$. 31 : H¥${Ì‘ àH$mem‘wio ........ 
 1) àH$meg§íbofU KSy>Z ¶oD$ eH$Vo. 
 2) àH$meg§íbofU KSy>Z ¶oD$ eH$V Zmhr. 
 3) h[aVÐì¶ Zï> hmoVo. 
 4) h[aVÐì¶mMo g§íbofU hmoVo. 
Question no. 32 : Minimum Alternative Tax is imposed on 

– 

A) Personal income  B) Corporate income 

C) Book profit  D) Net profit 

Select correct answer. 

 1) A and B  2) B and D 

 3) C and D  4) A, B, C and D 
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àíZ H«$. 32 : {H$‘mZ n¶m©¶r H$a ......... ¶mda AmH$mabm OmVmo. 

A) ì¶p³VJV CËnÞ  B) {ZJ‘ CËnÝZ 
C) nwñVH$s Z’$m  D) {Zìdi Z’$m 
¶mo½¶ CÎmamMr {ZdS> H$am. 
 1) A Am{U B  2) B Am{U D 

 3) C Am{U D   4) A, B, C Am{U D 

Question no. 33 : Which of the following statements 

indicate the difference between Intelligence Bureau(IB) 

and RAW (Research and Analysis Wing)? 

 1) IB is under the control of the Ministry of Home 

Affairs. RAW is under the control of the Prime 

Minister. 

 2) IB gathers domestic intelligence, RAW gathers 

external intelligence. 

 3) IB and RAW have separate legal status accorded by 

the centre and the states respectively. 

 4) IB enjoys greater autonomy and prestige than RAW 

 1) 1 and 4  2) 2 and 3 3) 1 and 2   4) 2 and 4 

àíZ H«$. 33 : B§Q>o{bOÝg ã¶wamo Am{U am° (Research and Analysis 

wing – RAW) ¶m§À¶mVrb ’$aH$ XmI{dUmao {dYmZ H$moUVo? 
 1) B§Q>o{bOÝg ã¶wamo J¥hImË¶mÀ¶m {Z¶§ÌUmImbr AgVo Va am° 

(RAW) n§VàYmZm§À¶m {Z¶§ÌUmImbr AgVo. 
 2) B§Q>o{bOÝg ã¶wamo Xoem§VJ©V JwádmVm© g§H${bV H$aVo. Va am° 

(RAW) ~mø JwßVdmVm© g§H${bV H$aVo. 
 3) Am¶~r (IB) Am{U am° (RAW) ¶m XmoÝhr g§ñWm§Zm AZwH«$‘o 

H|$ÐemgZmZo d amÁ¶emgZmZo d¡Ym{ZH$ XOm© {Xbm Amho. 
 4) Am¶~r ¶m g§ñWobm am°  (RAW) nojm A{YH$ ñdm¶ÎmVm d  

à{Vð>m Amho. 
 1) 1 Am{U 4  2) 2 Am{U 3 
  3) 1 Am{U 2  4) 2 Am{U 4 

Question no. 34 : The name of the fundamental particles 

for the discovery of which this years Nobel Prize has 

been awarded is associated with which of the following 

Indian scientist ? 

 1) S. N. Bose  2) P. C. Roy 

 3) P. C. Bose  4) C. N. R. Rao 

àíZ H«$. 34 : Á¶m ‘yb^yV H$Um§À¶m emoYm~Ôb ¶mdfuMo Zmo~ob 
nm[aVmo{fH$ XoÊ¶mV Ambo Ë¶m§Mo Zmd Imbrbn¡H$s H$moUË¶m ^maVr¶ 
emñÌkmer OmoS>bo Jobo Amho ? 

 1) Eg². EZ². ~mog 2) nr. gr. am°¶ 
  3) nr. gr. ~mog 4) gr. EZ². Ama. amd 
Question no. 35 : “The Ancient Geography of India”, “The 

Book of Indian Eras” and “Coins of Ancient India”, were 

books written by which of the directors of the 

Archaeological Survey of India? 

 1) Sir William Jones 

 2) Sir John Marshall 

 3) Dr. James Burgess 

 4) Sir Alexander Cunningham 

àíZ H«$. 35 : “X A°Zg|Q>>O°AmoJ«m°’$s Am°’$ B§{S>¶m”, “X ~wH$ Am°’$ 

B§{S>¶Z EamO²”, “H$m°B©Ýg² Am°’$ A°pÝgBÝQ> B§{S>¶m” hr nwñVHo$ 
Am{H©$Am°bm°{OH$b gìh} Am°’$ B§{S>¶mÀ¶m ....... ¶m g§MmbH$mZo {b{hbobr 
AmhoV. 
 1) ga {dë¶‘ OmoÝg² 2) ga Om°Z ‘me©b 
 3) S>m°. Ooåg ~J}g 4) ga Abo³Pm§S>a H${Z§Jh°‘ 

Question no. 36 : Which of the following is a difference 

between a food chain and a food web? 

 1) Food chain involves only plants while food web 

involve only animals. 

 2) Food chain involves only animals while food web 

involve plants. 

 3) Food chains are linear and food webs are complex. 

 4) Food chains are complex and food webs are linear. 
àíZ H«$. 36 : AÞgmIir Am{U AÞOm{bH$m ømVrb ’$aH$ 

Xe©{dUmam n¶m©¶ Imbrbn¡H$s H$moUVm? 

 1) AÞ gmIirV Ho$di dZñnVtMm Am{U AÞOm{bHo$V Ho$di 
àmÊ¶m§Mm g‘mdoe hmoVmo. 

 2) AÞ gmIirV ’$³V àmÊ¶m§Mm Va AÞOm{bHo$V dZñnVtMm 
g‘mdoe hmoVmo. 

 3) AÞgmIù¶m aoIr¶ AgVmV Am{U AÞOm{bH$m O{Q>b 
AgVmV. 

 4) AÞgmIù¶m O{Q>b AgVmV Am{U AÞOm{bH$m aoIr¶ 
AgVmV. 

Question no. 37 : The new name of Agriculture Price 

Commission is ......... 

 1) Agriculture Expenditure and Price Commission 

 2) Agriculture Expenditure Commission 

 3) Rural Price Commission 

 4) None of the  above 

àíZ H«$. 37 : H¥$fr ‘yë¶ Am¶moJmMo ZdrZ Zmd ........ Amho. 

 1) H¥$fr IM© Am{U qH$‘V Am¶moJ 

 2) H¥$fr IM© Am¶moJ 

 3) J«m‘rU qH$‘V Am¶moJ 

 4) ¶mn¡H$s EH$hr Zmhr. 

Question no. 38 : When did the International Criminal 

Court  become operational ? 

 1) July 2002  2) August 2003 

 3) March 2001 4) November 2000 

àíZ H«$. 38 : Am§Vaamḯ>r¶ ’$m¡OXmar Ý¶m¶mb¶ Ho$ìhmnmgyZ H$m¶m©pÝdV 
Pmbo? 

 1) Owb¡ 2002  2) Am°JñQ> 2003 

 3) ‘mM© 2001  4) Zmoìh|~a 2000 

Question no. 39 : .......... Gas is generally used in electric 

lamps to enhance their efficiency. 

 1) Helium 2) Krypton 3) Neon 4) Argon 

àíZ H«$. 39 : .......... dm¶w {dÚwV {Xì¶mMr H$m¶©j‘Vm dmT>{dÊ¶mg 
 ‘XV H$aVmo. 

 1) ho{bA‘ 2) {H«$ßQ>m°Z 3) {ZAm°Z 4) AaJm°Z 

Question no. 40 : Consider the following statements : 

A) Rigveda give elaborate details of the King’s 

administration of justice. 

B) Atharva Veda mentions garments (Dursa) and goat skin 

(Ajina) as articles of trade. 

Which of the statements given above is / are correct ? 

 1) A only  2) B only 

 3) Both A and B 4) Neither A nor B 
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àíZ H«$. 40 : Imbrb {dYmZo {dMmamV ¿¶m. 

A) doXm‘Ü¶o amOmÀ¶m Ý¶m¶ àemgZm~Ôb g{dñVa dU©Z Amho. 

B) AWd©doXm‘Ü¶o dñVw (Xgm©) Am{U ~H$è¶mÀ¶m H$mVS>çmMm (AOZm) 
ì¶mnmamMm C„oI Ho$bobm Amho. 

Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV? 

 1) ’$³V A  2) ’$³V B 

 3) A d B XmoÝhrhr ~amo~a 4) XmoÝhrhr Zmhr 

Question no. 41 : Match the following columns. 

I II III 

Name of Nobel laureates Year Subject 

1) Ravindranath Tagore 5) 2007 9) Literature 

2) C. V. Raman 6) 1913 10) Physics 

3) Venkatraman Ramkrishnan 7) 1930 11) Peace 

4) Rajendra Pachauri 8) 2009 12) Chemistry 

àíZ H«$. 41 : Imbrb {Vhoar OmoS>çm Owidm. 

I II III 

Zmo~ob df© {df¶ 

1) aqdÐZmW Q>mJmoa 5) 2007 9) gm{hË¶ 

2) gr. ìhr. am‘Z 6) 1913 10) nXmW©{dkmZ 

3) d|H$Q>a‘Z am‘H¥$îUZ 7) 1930 11) em§VVm 

4) amO|Ð nMm¡ar 8) 2009 12) agm¶Zemó 

 1) 1 → 6 → 9,  2 → 7 → 10,  3 → 8 → 12, 4 → 5 → 11 

 2) 1 → 7 → 11,  2 → 6 → 11,  3 → 5 → 10, 4 → 8 → 9 

 3) 1 → 8 → 10,  2 → 5 → 12,  3 → 6 → 11, 4 → 7 → 9 

 4) 1 → 5 → 12,  2 → 8 → 9,  3 → 7 → 10, 4 → 6 → 11 

Question no. 42 : Mid–day Meal Scheme was introduced 

in the year ........ 

àíZ H«$. 42 : ‘Ü¶mÝh ^moOZ ¶moOZm ........... ¶m dfm©nmgyZ gwê$ 
H$aÊ¶mV Ambr. 

 1) 1995 2) 1996 3) 1997 4) 1998 

Question no. 43 : The idea of shadow cabinet has not taken 

shape in India. This is due to the ....... 

 1) parliamentary system 

 2) multi–party system 

 3) Federal system 

 4) Single dominant party system 
àíZ H«$. 43 : ^maVmV n¶m©¶r ‘§Ìr‘§S>imÀ¶m (shadow cabinet) 

g§H$ënZoZo AmH$ma KoVbm Zmhr. ¶mMo H$maU ......... 

 1) g§gXr¶ emgZnÕVr 2) ~hþnj nÕVr 

 3) g§KamÁ¶ nÕVr 4) EH$-à~i nj nÕVr 
Question no. 44 : The Shrikrishna Committee on 

Telangana issue had recommended following solutions : 

Which one of them was the ‘best workable’ according to 

this committee?  

 1)  Maintain Status Quo 

 2) Bifurcation of the state into Seemandhra and 

Telangana 

 3)  Hyderabad to be declared as a Union territory 

 4) To setup a separate ‘Telangana Regional Council’ 

within Andhra Pradesh. 

 

àíZ H«$. 44 : Vob§JU amÁ¶mÀ¶m {Z{‘©Vr{df¶r Zo‘boë¶m lrH¥$îU 
g{‘VrZo g‘ñ¶oÀ¶m {ZamH$aUmgmR>r Imbrb Cnm¶ gwM{dbo. Ë¶mn¡H$s 
Ë¶m g{‘VrÀ¶m ‘Vo gdm}Îm‘ n¶m©¶ H$moUVm hmoVm? 

 1) ¶WmpñWVr amIUo 

 2) gr‘m§Y« d Vob§JUm Aer amÁ¶mMr {d^mJUr H$aUo 

 3) h¡Xam~mXbm H|$Ðem{gV àXoemMm XOm© XoUo 

 4) Am§Y« àXoem‘Ü¶o ñdV§Ì Vob§JU àmXo{eH$ n[afXoMr ñWmnZm 
     H$aUo 

Question no. 45 : Sir Robert Clive committed suicide in 

1775 because ........ 

 1) He failed to govern the Indian possessions      

          properly 

 2) He had to pay for the money which he had 

     misappropriated. 

 3) He was found guilty by the House of Commons 

 4) He wanted to escape popular ignominy 

àíZ H«$. 45 : ga am°~Q>© ³bmB©ìh ¶mZo 1775 ‘Ü¶o AmË‘hË¶m Ho$br, 
H$maU ......... 

 1) Ë¶mbm {Xboë¶m ^maVr¶ H$m‘mV An¶e Ambo. 

 2) n¡emÀ¶m Ho$boë¶m Anhmam~Ôb Ë¶mg ^anmB© H$amd¶mMr 

     hmoVr. 

 3) hmD$g Am°’$ H$m°‘Ýg ‘Ü¶o Vmo Xmofr R>abm. 

 4) bmoH$jmo^mnmgyZ dmMÊ¶mgmR>r 

Question no. 46 : A transformer is a device which ........  

 1) produce electricity 

 2) step up or step down DC voltage 

 3) step up or step down AC voltage 

 4) change current density 

àíZ H«$. 46 : amo{hÌmMo H$m¶© ......... ho Amho. 

 1) {dÚwV {Z{‘©Vr 

 2) DC {d^dm§Va H$‘r OmñV H$aUo 

 3) AC {d^dm§Va H$‘r OmñV H$aUo 

 4) {dÚwV àdmhmMr KZVm ~XbUo 

Question no. 47 : The Programme announced for 

minorities in India is called as –   

A) Antyodaya Programme 

B) Prime Minister Rozgar Yojana 

C) 15 point programme 

D) 20 point programme 

 1) only A  2) only C 

 3) only D  4) A, C and D 

àíZ H«$. 47 : ^maVmV Aëng§»¶mH$m§gmR>r Agbobm H$m¶©H«$‘ 
Imbrbn¡H$s H$moUË¶m ZmdmZo AmoiIbm OmVmo? 
A) A§Ë¶moX¶ H$m¶©H«$‘ 
~) n§VàYmZ amoOJma ¶moOZm 
H$) 15 H$b‘r H$m¶©H«$‘ 
S>) 20 H$b‘r H$m¶©H«$‘ 
 1) ’$³V A  2) ’$³V H$ 
 3) ’$³V S>  4) A, H$ Am{U S> 

 

 



8 

Question no. 48 : Which one of the objectives mentioned 

below is outside the objectives of MGNREGA? 

 1) to augment wage employment 

 2) to enhance wage earning capacity of the rural 

     poor. 

 3) Financial inclusion of the poor 

 4) Financial inclusion of the urban poor 

àíZ H«$. 48 : Imbrb Z‘yX Ho$boë¶m C{ÔîQ>m§n¡H$s H$moUVo C{Ôï> 
‘hmË‘m Jm§Yr amḯ>r¶ J«m‘rU amoOJma h‘r ¶moOZoÀ¶m C{Ôï>m§~mhoaMo Amho? 
 1) doVZmer OmoS>bobm amoOJma dmT>dUo. 
 2) J«m‘rU ^mJmVrb Jar~ OZVoMr doVZ {‘idÊ¶mMr j‘Vm 
     dmT>{dUo. 
 3) Jar~m§Mo Am{W©H$ g‘mdoeZ 
 4) ehar Jar~m§Mo Am{W©H$ g‘mdoeZ 

Question no. 49 : An echo of sound can be distinctly heard 

when you are standing away from a wall by ...... 

 1) 8 meter 2) 4 meter 3) 12 meter 4) 17 meter 

àíZ H«$. 49 : q^Vr nmgyZ .......... A§Vamda C^o AgVmZm Amnë¶mbm 
à{VÜdZr ñnï> EoHy$ ¶oVmo. 
 1) 8 ‘rQ>a 2) 4 ‘rQ>a 3) 12 ‘rQ>a 4) 17 ‘rQ>a 

Question no. 50 : The delimitation commission is required 

to readjust the division of territorial constituencies of the 

seats in the Lok Sabha and Vidhan Sabha. This work is 

based on which of the following ? 

 1) Census report of 1971 

 2) Annual report of the Election Commission of 

India. 

 3) Census report of 2001 

 4) Report of the National Sample Survey 

organisation of India  

àíZ H«$. 50 : bmoH$g^m Am{U {dYmZg^m§À¶m OmJm§À¶m ‘VXma g§Km§Mr 
nwZa©MZm H$aÊ¶mMo H$m‘ n{agr‘Z Am¶moJ (Delimitation 

Commission) H$aVo. Imbrbn¡H$s H$moUË¶m AmYmamda ho H$m¶© Am¶moJ 
H$aVo? 
 1) 1971 Mm OZJUZm Ahdmb 
 2) ^maVmÀ¶m {ZdS>UyH$ Am¶moJmMm dm{f©H$ Ahdmb 
 3) 2001 Mm OZJUZm Ahdmb 
 4) ^maVmÀ¶m amï´>r¶ Z‘wZm gd}jU g§KQ>ZoMm Ahdmb 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

PART – II / ^mJ - 2 
 

Question nos. 51 to 53 :  Read the following passage 

carefully and answer the questions that follow. 

Modern biotechnology, especially the creation of 

genetically modified crops, is often presented as a magic 

solution or universal panacea for the problem of poverty, 

inadequate nutrition and even environmental degradation 

across the world. Conversely, there are people who present 

the picture of tech generated monsters and major human 

health hazards being created by science. Many of the 

technological changes currently in the process of being 

utilised in agriculture can have unforeseen consequences 

and their safety and future viability are far from secure. The 

reality, as always, is far more complex than either of these 

two extremes. Even today the total food production in the 

world is adequate to feed the hungry of the world. The 

problem is rather one of unequal distribution, which 

deprives a large part of the population of even their 

minimal nutritional requirements. Similarly farmers, 

especially in developing countries face many problems such 

as lack of infrastructure, poor or unstable market access, 

volatile input and output prices etc. that biotechnology does 

not address, much less solve. 

 It is true that transgenic plants can offer a range of 

benefits which are above and beyond those which emerge 

from more traditional innovations in cultivation. It is 

suggested that such new technology offers more effective 

pest resistance of seeds and crops through genetic control 

mechanisms, which also reduces the need for pesticide use 

and leads to improved yield. A basic question, of course, is 

whether the new GM technology is safe, and whether this is 

absolutely crucial since the effects may only be known 

much later. The jury is still very much out on this matter 

and the controversy does not appear to be resolved quickly. 

The trouble is that most governments in developing 

countries have relatively low food and beverage regulatory 

standards, and public systems for monitoring and 

surveillance of such items are poor or non–existent. This 

leaves them open for entry and even dumping of a range of 

agricultural products of the new technology, which may not 

pass regulatory standards in the more developed countries. 

51 : Which of the following is not true in context of the 

passage? 

 1) Scientists have been dumping new products in the 

market in the absence of regulatory standards. 

 2) Genetically modified crops are a magic solution 

for the problem of poverty. 

 3) Total food production in the world is adequate to 

feed the hungry of the world. 

 4) None of the above. 

52 : Which of the following is the advantage of 

Biotechnology ? 

 1) It addresses the problems of the farmers 

especially in developing countries. 

 2) It offers more effective pest resistance and gives 

improved yield. 

 3) It is safe. 

 4) All of the above. 
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53 : The author of the passage ...... 

 1) is in favour of the use of biotechnology. 

 2) says that improvement in the infrastructural 

facilities will not help much. 

 3) encourages framing regulatory standards and 

public systems for monitoring and surveillance of 

genetically modified food. 

 4) All of the above 

àíZ H«$. 51 Vo  53 : nwT>rb n[aÀN>oX H$miOrnyd©H$ dmMm d Ë`mImbr 
{Xboë`m àíZm§Mr `mo½` CÎmao Úm. 
Xm[aÐç, Anwao nmofU d n¶m©daUmMm èhmg ¶m g‘ñ¶m§da EH$ d¡pídH$ 
M‘ËH$m[aH$ am‘~mU Cnm¶ åhUyZ AmYw{ZH$ OZwH$s¶ V§ÌkmZ qH$dm 
OZwH$s¶ gwYm[aV {nH$m§Mo CËnmXZ ¶m§g àñVwV Ho$bo OmVo. ¶mCbQ> 
Aerhr ‘mUgo AmhoV Or V§ÌkmZmÛmao {Z{‘©V amjg VgoM {dkmZmÛmao 
{Z{‘©V ‘mZdr Amamo½¶mgmR>rMo ‘moR>o YmoHo$ ¶m§Mo {MÌ àñVwV H$aVmV. H¥${f 
joÌmV gÜ¶m dmnamV ¶oV Agboë¶m AZoH$ Vm§{ÌH$ ~Xbm§Mo A^yVnyd© 
n[aUm‘ hmoD$ eH$VmV d Ë¶m§Mr gwa{jVVm d ^{dî¶mVrb ì¶dhm¶©Vm 
A{O~mV gwa{jV Zmhr. dmñVd ‘mÌ ¶m XmoZhr Q>moH$mÀ¶m ^y{‘H$m§nojm 
A{YH$ O{Q>b Amho. AmOhr OmJ{VH$ g§nyU© AÞmMo CËnmXZ ho OJmVrb 
g‘ñV ^yHo$ë¶m§Zm Kmg ^a{dÊ¶mg nwaogo Amho. ‘yi àíZ Ag‘mZ 
{dVaUmMm Amho Á¶m‘wio bmoH$g§»¶oÀ¶m EH$m ‘moR>çm ^mJmbm nmofUmÀ¶m 
{H$‘mZ JaOonmgyZ d§{MV ahmdo bmJVo. {dH$gZerb Xoem§‘Yrb 
eoVH$è¶m§Zm {d{dY g‘ñ¶m§Zm Vm|S> Úmdo bmJVo Ogo nm¶m^yV gw{dYm§Mm 
A^md, ~mOmanoR>m§Zm AgUmar Anwar d ApñWa àdoe ì¶dñWm, 
qH$‘VrMr ApñWaVm qH$dm bharnUm B. ¶m g‘ñ¶m§Zm OZwH$s¶ V§ÌkmZ 
Xÿa Va H$arV ZmhrM. gmYo g§~mo{YVhr H$arV Zmhr. na§namJV 
eoVr‘Yrb Zm{dÊ¶nyU© AmYw{ZH$ emoYm§‘wio hmoUmè¶m {d{dY bm^m§nojm 
OZwH$s¶ nÕVrZo gwYm[aV amono {d{dY ’$m¶Xo XoVmV Ago ZdrZ V§ÌkmZ 
OZwH$s¶ {Z¶§ÌU V§ÌmÛmao A{YH$ à^mdr nÕVrZo {~¶mUo Am{U {nH$m§Zm 
H$sQ>H$m§nmgyZ à{V~§{YV R>odVo. ¶m‘wio {H$S>>ZmeH$m§À¶m dmnamMr JaO 
H$‘r ^mgVo d nrH$ gwYm[aV {‘iVo. 
 ¶m V§ÌkmZmMo n[aUm‘ Iyn C{eam bjmV ¶oV Agë¶m‘wio  
OZwH$s¶ V§ÌkmZ nwaogo gwa{jV d ‘mobmMo Amho H$s Zmhr hm ‘yb^yV àíZ 
{Z‘m©U Pmbm Amho. Ý¶m¶nm{bH$m ¶m {df¶mda Jm§^r¶m©Zo MMm© H$arV 
Amho. na§Vw hm dmX bdH$a g§nob Ago dmQ>V Zmhr. {dH$gZerb 
Xoem§‘Yrb gaH$mam§‘Ü¶o VwbZoZo AÞ d no¶o ¶mg§~§Yr {Z¶m‘H$ ‘mZX§S> 
Am{U gmd©O{ZH$ {ZarjU d {Z¶§ÌU ì¶dñWm {ZH¥$ï> Amho qH$dm 
ApñVËdmVM Zmhr hr Iar g‘ñ¶m Amho. ZdrZ V§ÌkmZmZo {Z{‘©V 
Ho$bobm eoV‘mb Omo {dH${gV Xoem§‘Ü¶o {Z¶m‘H$ ‘mZH$m§À¶m {ZH$fm§da 
~mX R>abm Amho Vmo {dH$gZerb XoemV Q>mHy$Z {Xbm OmV Amho. 
51 : CVmè¶mÀ¶m g§X^m©V Imbrbn¡H$s H$moUVo {dYmZ Iao Zmhr? 

 1) {Z¶m‘H$ ‘mZHo$ ApñVÎdmV Zgë¶m‘wio emñÌk 
~mOmanoR>o‘Ü¶o ZdrZ CËnmXZo Q>mHy$Z XoVmV. 

 2) OZwH$s¶ gwYm[aV {nHo$ Xm[aÚ«mÀ¶m g‘ñ¶oda EH$  
AmíM¶©H$maH$ Cnm¶ AmhoV. 

 3) OJmVrb EHy$U AÝZ CËnmXZ OJmVrb gd© ^wHo$ë¶m§Zm Kmg 
^a{dÊ¶mg nwaogo Amho. 

 4) darbn¡H$s H$moUVohr n¶m©¶ Zmhr. 
52 : O¡dV§ÌkmZmMo Imbrbn¡H$s H$moUVo ’$m¶Xo AmhoV? 

 1) {dH$gZerb Xoem§À¶m eoVH$è¶m§À¶m g‘ñ¶m§Zm g§~mo{YV H$aUo. 
 2) A{YH$ à^mdr H$sS> à{V~§YZ H$ê$Z CËnÝZmV dmT> hmoUo. 
 3) ho V§ÌkmZ gwa{jV Amho. 
 4) darb gd© 
 

53 : CVmè¶mMm boIH$ ...... 
 1) O¡dV§ÌkmZmÀ¶m dmnamMm njYa Amho. 
 2) nm¶m^yV gw{dYm§‘Ü¶o gwYmaUm H$ê$Z {deof ’$m¶Xm hmoUma 

Zmhr Ago ‘mZVmo. 
 3) gmd©O{ZH$ ì¶dñWm d {Z¶m‘H$ ‘mZHo$ ~Z{dÊ¶mMm nwañH$ma 

H$arV Amho Oo OZwH$s¶ nÜXVrZo gwYm[aV AÝZmda {Z¶§ÌU 
R>odob. 

 4) darbn¡H$s gd© n¶m©¶ 
Question nos. 54 to 56 :  Read the following passage 

carefully and answer the questions that follow. 

As matters stand today, many teachers are unable to do the 

best of which they are capable. For this there are a number 

of reasons, some more or less accidental, others very deep–

seated. To begin with the former, most teachers are 

overworked and are compelled to prepare their pupils for 

examinations rather than to give them a liberalizing mental 

training. The people who are not accustomed to teaching – 

and this includes practically all educational authorities – 

have no idea of the expense of spirit that it involves. 

Clergymen are not expected to preach sermons for several 

hours every day, but the analogous effort is demanded of 

teachers. The result is that many of them become harassed 

and nervous, out of touch with recent work in the subjects 

that they teach, and unable to inspire their students with a 

sense of the intellectual delights to be obtained from new 

understanding and new knowledge. This, however, is by no 

means the bravest matter. In most countries certain opinions 

are recognized as correct, and others as dangerous. 

Teachers whose opinions are not correct are expected to 

keep silent about them. If they mention their opinions it is 

propaganda, while the mentioning of correct opinions is 

that the inquiring young too often have to go outside the 

classroom to discover what is being taught by the most 

vigorous minds of their own time. There is a subject called 

civics, in which, perhaps more than in any other, the 

teaching is expected to be misleading. The young are taught 

a sort of copybook account of how public affairs are 

supposed to be conducted, and are carefully shielded from 

all knowledge as to how in fact they are conducted. When 

they grow up and discover the truth, the result is too often a 

complete cynicism in which all public ideals are lost; 

whereas if they had been taught the truth carefully and with 

proper comment at an earlier age they might have become 

men able to combat evils in which, as it is, they acquiesce 

with a shrug. 

54 : Which of the following statements is true ? 

 1) Educational authorities are effective teachers 

 2) In all countries, certain opinions are recognised as 

correct 

 3) Civics is unnecessarily taught in some context 

 4) Most teachers are forced to prepare their 

students for examinations. 

55 : The author regrets the fact that ..... 

 1) Clergymen are not expected to preach everyday. 

 2) Many teachers are not able to realise their full 

potential. 

 3) Some teachers are better than the others. 

 4) Teachers are expected to train students’ mind. 
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56 : Choose the most appropriate title for the passage from 

the following. 

 1) Teaching as a noble profession 

 2) Clergymen versus teachers 

 3) Difficulties faced by the teachers 

 4) Combating the evils of society. 
àíZ H«$. 54 Vo  56 : nwT>rb n[aÀN>oX H$miOrnyd©H$ dmMm d Ë`mImbr 
{Xboë`m àíZm§Mr `mo½` CÎmao Úm. 
AmOMr dñVwpñWVr nmhVm bjmV ¶oVo H$s AZoH$ {ejH$m§Zm Ë¶m§À¶mH$S>o 
Agboë¶m j‘Vm§Mm nwaonya dmna H$aUo e³¶ hmoV Zmhr. ¶mMr H$maUo 
H$mhr AnKmVr AmhoV d BVa H$maUo Iyn J§^ra d Imob AmhoV. 
A{YH$m§e {ejH$m§da H$m‘mMm ^ma Oê$ar nojm OmñV Amho d Ë¶m§Zm 
{dÚmÏ¶mªZm narjogmR>rM Ho$di V¶ma H$aÊ¶mg ^mJ nmS>bo OmVo, 
{dÚmÏ¶mªZm CXmaVmdmXr ~m¡{ÕH$ à{ejU XoÊ¶mgmR>r Zìho. Á¶m bmoH$m§Zm 
{eH${dÊ¶mMr gd¶ Zmhr. (¶m‘Ü¶o Odinmg {ejU joÌmVrb gd© 
A{YH$mar ¶oVmV) Ë¶m§Zm ¶mMr OmUrd Zmhr H$s {ejU XoÊ¶mÀ¶m 
à{H«$¶oV Ho$dT>o AmpË‘H$ ~i IMu nS>Vo. nmÐtZr XaamoO VmgZVmg 
Ym{‘©H$ CnXoe H$amdm Aer Anojm Zmhr na§Vw Aer Anojm {ejH$m§H$Sy>Z 
‘mÌ Ho$br OmVo. n[aUm‘ñdê$n ~aoM {ejH$ ÌñV d {Zame hmoD$Z 
OmVmV H$maU Ë¶m§À¶m {df¶m‘Ü¶o Pmboë¶m ZdrZ ~Xbm§er d 
g§emoYZm§er Ë¶m§Mm H$mhr g§~§Y amhV Zmhr. ZdrZ kmZmnmgyZ ¶oUmè¶m 
~m¡{ÕH$ AmZ§XmÀ¶m ^mdZoZo ‘wbm§Zm ào[aV hr H$aVm ¶oV Zmhr. A{YH$m§e 
Xoem‘Ü¶o H$mhr ‘Vo ~amo~a qH$dm gË¶ ‘mZbr OmVmV d BVa ‘Vo 
YmoH$mXm¶H$ ‘mZbr OmVmV. Á¶m {ejH$m§Mr ‘Vo A¶mo½¶ AmhoV Ë¶m§Zr 
Amnë¶m ‘Vm§{df¶r ‘m¡Z nmiUo Ano{jV Amho. Oa Ë¶m§Zr Amnbr ‘Vo 
‘m§S>br Va Ë¶mg àMma ‘mZÊ¶mV ¶oVo. H$maU ¶mo½¶ ‘V ‘m§S>Ê¶mMm AW© 
Agm H$s {Okmgy VéU {dÚmWu gwÕm embo¶ dJm©‘Ü¶o ~mhoaÀ¶m OJmV 
OmD$Z Vo OmUyZ KoÊ¶mMm à¶ËZ H$aVrb Oo Ë¶m§Zm Ë¶m§À¶m H$mimVrb 
{dÛmZ ì¶³VtH$Sy>Z {eH$Ê¶mg {‘iVo. ZmJ[aH$emó Agm {df¶ Amho 
Omo BVa H$moUË¶mhr {df¶mnojm OmñV {Xem^yb H$aUmam Amho. bhmZ 
{dÚmÏ¶mªZm gmd©O{ZH$ H$m‘H$mO H$go MmbVo ¶mMm nwñVH$s Aä¶mg 
{eH$[dbm OmVmo, d ‘moR>çm {eVm’$sZo Ë¶m kmZmnmgyZ Xÿa R>odbo OmVo 
Á¶m‘Ü¶o IamoIa H$go àemgZ H$go Mmbdmdo ho gm§{JVbo OmVo. Ooìhm§ 
hr bhmZ ‘wbo ‘moR>r hmoVmV d Ë¶m§Zm gË¶mMm emoY bmJVmo, Voìhm§ Vo 
CnojmdmXr ~ZyZ OmVmV d Ë¶mV Ë¶m§Mo gd© AmXe© hadyZ OmVmV. ¶m 
CbQ> Oa {dÚmÏ¶mªZm gË¶ / dmñVd H$miOrnyd©H$ d ¶mo½¶ 
{Q>H$m{Q>ßnUr H$ê$Z ¶mo½¶ d¶mV {eH${dbo Jobo AgVo Va hr ‘wbo 
g‘mOmVrb dmB©Q> àd¥ÎmtZm ‘yH$ g§‘Vr Z Xe©{dVm Ë¶m§À¶m ~amo~a 
bT>Ê¶mg V¶ma hmoVrb. 
54 : Imbrb n¡H$s H$moUVo {dYmZ AMyH$ Amho? 

 1) e¡j{UH$ joÌmVrb A{YH$manXmdarb ì¶³Vr à^mdr {ejH$ 
AgVmV. 

 2) gd© Xoem§‘Ü¶o H$mhr ‘Vo AMyH$ / ¶mo½¶ ‘mZbr OmVmV. 
 3) ZmJ[aH$ emó ho AZoH$Xm AZmdí¶H$M {eH${dbo OmVo. 
 4) A{YH$m§e {ejH$m§Zm {dÚmÏ¶mªZm Ho$di narjogmR>r V¶ma 

H$aÊ¶mg ^mJ nmS>bo OmVo. 
55 : boIH$mbm ¶m Jmoï>rMo dmB©Q> dmQ>Vo {H$ ......... 
 1) àmÐtZm XaamoO Y‘m}nXoe XoUo Ano{jV Zmhr. 
 2) AZoH$ {ejH$m§Zm Amnë¶m nyU© j‘VoMm dmna H$ê$Z KoVm ¶oV 

Zmhr. 
 3) H$mhr {ejH$ BVa {ejH$m§nojm gag AgVmV. 
 4) {dÚmÏ¶mªZm ~m¡{ÕH$ à{ejU XoÊ¶mMr Anojm {ejH$m§H$Sy>Z 

Amho. 
 

56 : CVmè¶mÀ¶m erf©H$mgmR>r Imbrbn¡H$s ¶mo½¶ n¶m©¶ {ZdS>m. 
 1) {ejH$s noem EH$ CXmÎm noem 
 2) nmÐr {déÕ {ejH$ 
 3) {ejH$m§Zm ¶oUmè¶m g‘ñ¶m 
 4) g‘mOmVrb dmB©Q> Jmoï>ter bT>m. 
Question nos. 57 to 59 :  Read the following passage 

carefully and answer the questions that follow. 

‘Health is neither a commodity to be purchased nor a 

service to be given; it is a process of knowing, living, 

participating and being’, says the blueprint of India’s 

recently reformulated National Health Policy. The former 

Prime Minister, Smt. Indira Gandhi, further explained, 

“Life is not merely for living, but for living in health. In 

India, even in very ancient times, it was believed that 

physical, mental and spiritual health were intrinsically 

interwoven. This is the basis of the science of yoga, the 

medical system perfected in India, ‘Ayurveda’ or the 

knowledge of the span of life, in many ways foreshadowed 

W. H. O’s own definition of health as a “state of complete 

physical, mental and social well being.” 

 Modern health care priorities of the government of India 

are enshrined in the Indian constitution which says, “The 

state shall regard the raising of the level of nutrition and 

standard of living of its people and the improvement of 

public health as among its primary duties.” While 

indigenous medical systems like the ‘Ayurveda’, ‘Unani’ 

and ‘Siddha’ or nature cure are widely practiced and 

believed in by a great mass of people, particularly in rural 

India, mainly for their accessibility and low costs and an 

element of faith based on respect for their ancient 

traditions, it is Allopathy, or modern medicine as we know 

it, that has been the chief beneficiary of government policy 

in India. 

 Homeopathy, the alternative medical system founded by 

German scientist S.C. F. Hanhemann in 1796, is taught at 

123 institutions and is also patronised. As in China, Where 

Acupuncture, their indigenous medical system, flourishes 

alongside modern medical techniques, so in India, the 

government encourages proper standardised use of 

indigenous systems while laying stress on Allopathy. In fact 

there are about 2,81,000 registered practitioners of Indian 

systems of medicine, 19,687 dispensaries and 12,865 beds 

in 411 hospitals providing such treatment and a total of 

ninety eight Ayurvedic, seventeen Unani and one Siddha 

undergraduate colleges in India, of which fifty four 

Ayurvedic and eleven Unani colleges are run by voluntary 

agencies affiliated to universities which have degree and 

diploma courses of five and three years and post graduate 

facilities. 

 The practice and education of Ayurveda, Unani and 

Siddha is regulated by the Central Council of Indian 

Medicine. 

57 : Which of the following is true with reference to the 

passage? 

 1) Health can be improved by intense and regular 

medication. 

 2) Health cannot be bought but has to be achieved 

by working at it. 

 3) Health can be improved by participating in 

medical system. 

 4) Health is a commodity that can be purchased. 

 



11 

58 : Why do people believe in traditional remedies? 

 1) Traditional remedies are easily accessible 

 2) Because of their low cost 

 3) People have faith based on respect for ancient 

traditions. 

 4) All the above 

59 : Which of the following did Indira Gandhi believe in? 

 1) The medical system ‘Ayurvda’ was practised and 

perfected in India. 

 2) Health is only a marginal part of living. 

 3) Ayurveda overshadowed WHO’s own definition 

of health 

 4) Physical, mental and spiritual health are isolated. 

 
àíZ H«$. 57 Vo  59 : nwT>rb n[aÀN>oX H$miOrnyd©H$ dmMm d Ë`mImbr 
{Xboë`m àíZm§Mr `mo½` CÎmao Úm. 
Amamo½¶ ho IaoXr H$amdr Agm ì¶mnmar ‘mb, qH$dm XoÊ¶mMr EH$ godm, 
XmoÝhr§n¡H$s H$mhrhr Zmhr. amï´>r¶ Amamo½¶ YmoaU ¶moOZoÀ¶m {dñV¥V 
ê$naofoÀ¶m ‘Vo, Vr EH$ OmUyZ KoÊ¶mMr, OJÊ¶mMr Am{U gh^mJr 
hmoÊ¶mMr à{H«$¶m Amho. ‘mOr n§VàYmZ lr‘Vr B§{Xam Jm§Yr ¶m§Zr A{YH$ 
ñnï>rH$aU XoVmZm åhQ>bo {H$ OrdZ ho ’$³V OJÊ¶mgmR>r Zmhr Va 
Amamo½¶Xm¶r OJÊ¶mgmR>r Amho. ’$ma àmMrZ H$mir ^maVm‘Ü¶o Agm 
{dídmg hmoVm {H$ emar[aH$, ‘mZ{gH$ Am{U AmÜ¶mpË‘H$ Amamo½¶ 
A§J^yVnUo A§Va{dUbobo AmhoV. ¶moJ {dkmZmMo ho AmYma AmhoV. 
 OmJ{VH$ Amamo½¶ g§KQ>ZoMr Amamo½¶mMr ì¶m»¶m hmoVr emar[aH$, 
‘mZ{gH$ Am{U gm‘m{OH$ ñdmñÏ¶, na§Vw ^maVmVrb àM{bV d¡ÚH$s¶ 
àUmbr (Am¶wd}X) qH$dm OrdZ H$mbmdYrMo kmZ ¶m§Zr ¶mMm AmYrM 
nwdm©^mg H$ê$Z {Xbm hmoVm. ^maVr¶ KQ>Zo‘Ü¶o OVZ Ho$boë¶m ^maV 
gaH$maÀ¶m Amamo½¶m{df¶r àmW{‘H$Vo‘Ü¶o amÁ¶mMr nmofU nmVir d 
amhUr‘mZmMm XOm© dmT>{dUo d gmd©O{ZH$ Amamo½¶ gwYmaUo ho ‘w»¶ 
H$V©ì¶ ‘mZbo Jobo Amho. 
 gwb^Vm, H$‘r IM© Am{U àmMrZ na§naoda Agbobr lÕm ¶m gd© 
Jmoï>t‘wio ~hþVm§e bmoH$m§Zr Oar Am¶wd}X, ¶wZmZr Am{U {gÕm qH$dm 
{ZgJm}nMma ¶mgma»¶m Xoer d¡ÚH$s¶ àUmbtMm {dídmgmZo Adb§~ Ho$bm 
Agbm, Var ^maVr¶ gaH$mar YmoaUmMm ‘w»¶ bm^mWu A°bmonWr qH$dm 
AmYw{ZH$ d¡ÚH$emóM Amho. 
 1796 ‘Ü¶o O‘©Z emók Eg. gr. E’$ h°Zho‘Z ¶m§Zr ñWmnbobr 
hmo{‘Amon°Wr hr n¶m©¶r d¡ÚH$s¶ àUmbr 123 g§ñWm§‘Ü¶o {eH$[dbr d 
àmoËgm{hV Ho$br OmV Amho. 
 Oer MrZ ‘Ü¶o AmYw{ZH$ d¡ÚH$s¶ àUmbtÀ¶m ~amo~arZo A°³¶wn§³Ma 
hr ñWm{ZH$ d¡ÚH$s¶ àUmbr PnmQ>çmZo dmT>V Amho VgoM ^maV gaH$ma 
d¡ÚH$s¶ àUmbtÀ¶m ¶mo½¶ ‘mZH$m§À¶m dmnambm àmoËgmhZ XoV AgVmZm 
Ebm°nWrMo ‘hËd à{VnmXrV H$aV Amho. 
 dmñV{dH$ ^maVr¶ d¡ÚH$s¶ àUmbt‘Ü¶o Am¡fYmonMma àXmZ H$aUmao 
2,81,000 Zm|XUrH¥$V ì¶mdgm{¶H$, 19,687 XdmImZo Am{U 441 
é½Umb¶m§‘Ü¶o 12,865 nb§J AmhoV Am{U EHy$U 98 Am¶wd}{XH$ 17 
¶wZmZr Am{U 1 {gÕm nXdr XoV Agbobr ‘hm{dÚmb¶o AmhoV. ¶mn¡H$s 
54 Am¶wd}{XH$ Am{U 11 ¶wZmZr ‘hm{dÚmb¶o nwUo {dÚmnrR>mer g§b{¾V 
Agboë¶m ñd¶§godr g§ñWm§Ûmam Mmb[dbr OmVmV {OWo 5 Am{U 3 
dfmªMm nXdr Am{U nX{dH$m Am{U nXì¶wÎma gw{dYm CnbãY AmhoV. 
 Am¶wd}X, ¶yZmZr Am{U {gÕ ¶m§À¶m gamd Am{U {ejUmMo 
{Z¶m{‘H$aU g|Q́>b H$m¢{gb Am°’$ B§{S>¶Z ‘o{S>{gZ Ûmao Ho$bo OmVo. 
 
 
 

57 : CVmè¶mÀ¶m g§X^m©V Imbrb {Xbobo H$moUVo {dYmZ Iao Amho? 

 1) {Z¶{‘V d AË¶m{YH$ Am¡fYmonMmamZo Amamo½¶ gwYmabo OmD$ 
eH$Vo. 

 2) Amamo½¶ {dH$V KoVm ¶oV Zmhr qH$~hþZm Vo H$ï>mZo {‘idm¶mg 
bmJVo. 

 3) Amamo½¶ ì¶dñWo‘Ü¶o gh^mJ KoD$Z Amamo½¶ gwYmabo OmD$ 
eH$Vo. 

 4) Amamo½¶ EH$ Aer dñVy Amho Or IaoXr Ho$br OmD$ eH$Vo. 
58 : bmoH$ nma§nm[aH$ CnMmam§da {dídmg H$m R>odVmV? 

 1) nma§nm[aH$ CnMma ghO CnbãY hmoVmV. 
 2) Ë¶m§Mo ‘yë¶ / qH$‘V Iyn H$‘r AgVo. 
 3) àmMrZ na§nam§{df¶r AmXa Agë¶m‘wio nma§nm[aH$ CnMmam§da 

lÕm AgVo. 
 4) darb gd© n¶m©¶ ~amo~a 
59 : Imbrbn¡H$s H$moUË¶m {dYmZmda B§{Xam Jm§YtMm {dídmg hmoVm? 

 1) Am¶wd}XmMo ^maVmV àMbZ hmoVo d ^maV ¶m‘Ü¶o àdrU hmoVm. 
 2) Amamo½¶ hm ‘mZdr OrdZmMm EH$ AË¶ën ^mJ Amho. 
 3) OmJ{VH$ Amamo½¶ g§KQ>ZoÀ¶m (WHO) n[a^mfobm Am¶wd}XmZo 

PmH$moiyZ Q>mH$bo. 
 4) emar[aH$, ‘mZ{gH$ Am{U AmÜ¶m[Ë‘H$ Amamo½¶ ¶m 

EH$‘oH$m§nojm doJù¶m Jmoï>r AmhoV. 
Question no. 60 : If the median and mean of x, 1, 1, 1, 3, 3, 

4, 7, 12 are equal than x = ........ 

àíZ H«$. 60 : Oa x, 1, 1, 1, 3, 3, 4, 7, 12 ¶m§Mm ‘Ü¶ d ‘Ü¶H$ 
g‘mZ AgVrb Va x = ........ 

 1) 5 2) – 5 3) 0 4) 7 

Question no. 61 : In the following sequence which number 

will appear at the place of question mark? 

13, 30, 66, 140, ?, 592 

àíZ H«$. 61 : 12, 30, 66, 140, ?, 592 ¶m g§»¶m‘m{bHo$V 
àíZ{MÝhmÀ¶m OmJr H$moUVr g§»¶m Agob? 

 1) 290 2) 210 3) 430 4) 428 

Question no. 62 : In a certain code if BAD is coded as        

5–4–7, then DARK will be coded as ...... 

àíZ H«$. 62 : EH$ g§Ho$VmZwgma BAD eãX Oa 5-4-7 Agm 
{b{hbm Va DARK eãX ¶m g§Ho$VmZwgma Imbrbn¡H$s H$moUVm? 

 1) 7 – 4 – 20 – 14 2) 7 – 4 – 21 – 3 

 3) 7 – 4 – 21 – 14 4) 7 – 4 – 20 – 13 

Question no. 63 : If on 1st January 2005, it was Saturday  

then in the same year which month’s first day was also 

Saturday? 

 1) July 2) October 3) December 4) None 

àíZ H«$. 63 : EH$ OmZodmar 2005 (1-1-2005) amoOr e{Zdma 
hmoVm. Va Ë¶mM dfm©Vrb H$moUË¶m ‘{hÝ¶mVrb 1 VmaIobm e{ZdmaM 
Agob? 
 1) Owb¡ 2) Am°³Q>mo~a 3) {S>g|~a   4) H$moUVmM Zmhr 
Question no. 64 : How many triangles are there in the 

given figure? 

àíZ H«$. 64 : {Xboë¶m Imbrb AmH¥$VrV {H$Vr {ÌH$moU AmhoV? 

 1) 8 

 2) 10 

 3) 9 

 4) 11 
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Question no. 65 : Six girls are standing in a circle facing 

the centre. Bindu is to the left of Vaiju, Rekha is in between 

Bindu and Mamata, Jau is in between Vaiju and Nirmala. 

Who is to the left of Mamata? 

 1) Rekha 2) Vaiju 3) Bindu 4) Nirmala 
àíZ H«$. 65 : ghm ‘wbr EH$m dVw©imda H|$ÐmH$S>o Vm|S> H$ê$Z gma»¶m 
A§Vamda EH$‘oH$sg‘moa Cä¶m AmhoV. q~Xÿ hr d¡OyÀ¶m S>mdrH$S>o C^r 
Amho. aoIm hr q~Xÿ d ‘‘VmÀ¶m ‘Yo Amho. O¶y hr d¡Oy d {Z‘©bmÀ¶m ‘Yo 
Amho, Va ‘‘VmÀ¶m S>mì¶m ~mOyg H$moU Amho? 
 1) aoIm 2) d¡Oy 3) q~Xÿ 4) {Z‘©bm 
Question no. 66 : In the following sequence, which number 

will appear at the place of question mark? 

24,  ?, 109, 134, 150, 159 

àíZ H«$. 66 : Imbrb g§»¶m‘m{bHo$V àíZ{MÝhmÀ¶m OmJr 
Imbrbn¡H$s H$moUVr g§»¶m ¶oB©b? 

24, ?, 109, 134, 150, 159 

 1) 27 2) 19 3) 73 4) 17 

Question no. 67 : In a certain code, if ASSIST = 57,  

LIST = 97, then LASS = ? 

àíZ H«$. 67 : EH$m {d{eð> g§Ho$VmZwgma Oa ASSIST = 57,  

LIST = 9 7 Va LASS = ? 

 1) 95 2) 59 3) 975 4) 977 

Question no. 68 : If it is Sunday on 20th October 2013, 

then which day will it be on 26th January 2015? 

 1) Sunday 2) Monday 3) Wednesday   4) Friday 
àíZ H«$. 68 : 20 Am°³Q>mo~a 2013 amoOr a{ddma Agob Va 26 
OmZodmar 2015 amoOr H$moUVm dma Agob? 
 1) a{ddma 2) gmo‘dma 3) ~wYdma 4) ewH«$dma 
Question no. 69 : What is the maximum number of 

triangles possible in the given figure ? 

àíZ H«$. 69 : AmH¥$Vr‘Yrb OmñVrV OmñV {ÌH$moUm§Mr g§»¶m {H$Vr? 

 

 

 

 

 1) 18 2) 21 3) 17 4) 18 

Question no. 70 : A is taller than B, 

M is taller than A 

G is taller than M 

Y is tallest among all. 

Who will be in the middle position ? 

àíZ H«$. 70 : A hm B nojm C§M Amho, 
M hm A nojm C§M Amho, 
G hm M nojm C§M Amho, 
Y hm gdm©V C§M Amho. 
Va C§MrÀ¶m VwbZoV ‘Ü¶ñWmZr H$moU Agob? 
 1) M 2) G 3) A 4) B 

Question no. 71 : The sum of the three consecutive even 

numbers is greater than their average by 32, which of the 

following is the middle number in that set? 

àíZ H«$. 71 : VrZ bJVÀ¶m g‘ g§»¶m§Mr ~oarO hr Ë¶mÀ¶m 
gamgarnojm 32 Zo OmñV Amho. Va ¶m goQ>Mr ‘Ybr g§»¶m 
Imbrbn¡H$s H$moUVr? 

 1) 16 2) 12 3) 32 4) 24 

 

 

 

Question no. 72 : In a small town, 

350 families watch Doordarshan 

300 families watch Star T.V. 

200 families watch both (above) 

if the  total families in the town are 600, then how many 

families do not have T. V. sets ? 

àíZ H«$. 72 : EH$m bhmZ ehamV, 
350 Hw$Qw>§~o XÿaXe©Z nmhVmV. 
300 Hw$Qw>§~o ñQ>ma T. V. nmhVmV. 
Va 200 Hw$Qw>§~o XmoÝhr àH$maMo nmhVmV. 
Oa Ë¶m ehamVrb EHy$U Hw$Qw>§~o 600 AgVrb Va Á¶m§MoH$S>o T. V. 
goQ>g² ZmhrV Aer {H$Vr Hw$Qw>§~o AgVrb? 
 1) 50 2) 100 3) 200 4) 150 

Question no. 73 : A man completed 30% of the distance at 

the speed of 20 km/hr, 60% of the distance at the speed 40 

km/hr and the remaining distance at 10 km/hr. by car. The 

average speed for the whole journey is ........ 

àíZ H«$. 73 : EH$ ‘Zwî¶ Amnë¶m EHy$U àdmgmÀ¶m 30% A§Va         
20 km/h doJmZo, 60% A§Va 40 km/h doJmZo, Cabobo A§Va      
10 km/h Amnë¶m H$maZo OmVmo. Va Ë¶mÀ¶m àdmgmMm gamgar doJ 
{H$Vr Agob? 

 1) 20km/hr  2) 22
2

1
km/hr 

 3) 25 km/hr  4) 27
2

1
km/hr 

Question no. 74 : In figure, AD  BC of ABC. Ray AE is 

angle bisector of A. If mB = 76, mC = 44 then x = ? 

àíZ H«$. 74 : AmH¥$VrV ABC ‘Ü¶o AD  BC {H$aU AE hm 
A Mm Xþ^mOH$ Amho. Oa mB = 76, mC = 44 Va x = ? 

 1) 15 

 2) 16 

 3) 26 

 4) 22 

 

Question no. 75 : The mean of data  

7, 5, (x + 2), 4, 5, 6, (x – 1), 8 is 6, then x = ? 

àíZ H«$. 75 : 7, 5, (x + 2), 4, 5, 6, (x – 1), 8 ¶m§Mo ‘Ü¶ Oa 6 
Amho, Va x = ? 
 1) 6 2) 5 3) 7 4) 8 

Question no. 76 : Travelling on horse while going and 

returning back by walking takes 8 hours. If the return trip is 

also on horse, then 2 hours are saved. How much time will 

be required if the entire journey is by walk? 

 1) 8 Hrs. 2) 10 Hrs. 3) 16 Hrs. 4) 12 Hrs. 

àíZ H«$. 76 : OmVmZm KmoS>çmdê$Z d ¶oVmZm nm¶r àdmg Ho$ë¶mg 
EHy$U 8 Vmg bmJVmV. 
OmVmZm d ¶oVmZm XmoÝhr doim KmoS>çmdê$Z àdmg Ho$ë¶mg 2 Vmg H$‘r 
doi bmJVmo. Va XmoÝhr doim nm¶r àdmg Ho$ë¶mg {H$Vr doi bmJob? 
 1) 8 Vmg 2) 10 Vmg 3) 16 Vmg 4) 12 Vmg 

Question no. 77 : Taps A, B and C are connected to a 

water tank and the rate of flow of water is 42 litre/h, 56 lit/h 

and 48 lit/h respectively. Taps A and B fills the tank while 

tap c empties the tank. If all the three taps are opened 

simultaneously, the tank gets completely filled up in 16 

hours. What is the capacity of the tank? 

 1) 960 lit 2) 800 lit 3) 2324 lit 4) 1600 lit 

 

A 

B 
D E C 

x 
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àíZ H«$. 77 : A d B ¶m VrZ VmoQ>çm EH$m Q>mH$sbm OmoS>boë¶m AmhoV. 
VrZ VmoQ>çm§À¶m nmÊ¶mMm àdmh AZwH«$‘o  42 lit/h, 56 lit/h d 48 lit/h 
Agm Amho. A d B ¶m VmoQ>çm§Zr Q>mH$s ^aVo Va C VmoQ>r hm¡X [aH$m‘m 
H$aÊ¶mH$[aVm dmnabr OmVo. Oa VrZhr VmoQ>çm EH$mM doir gwê$ Ho$ë¶m 
Va 16 VmgmZo Q>mH$s ^aVo. Va Q>mH$sMr j‘Vm {H$Vr Amho? 
 1) 960 lit 2) 800 lit 3) 2324 lit 4) 1600 lit 

 

Question nos. 78 to 80 : 
 The following three questions are based on a Passage in 

English to test the comprehension of English Language and 

therefore both the Passage and the questions on it do not 

have Marathi version. Read the following passage 

carefully and answer the questions that follow. 
 
 nwT>rb VrZ àíZ B§J«Or ^mfoMr g_O VnmgÊ`mgmR>r Agë`mZo 
n[aÀN>oX d Ë`mdarb àíZm§Mo _amR>r ^mfm§Va XoÊ`mV Ambobo Zmhr. 
nwT>rb n[aÀN>oX H$miOrnyd©H$ dmMm d Ë`mImbr {Xboë`m àíZm§Mr `mo½` 
CÎmao Úm. 
Economists, ethicist and business experts persuade us that 

honesty is the best policy, but their evidence is weak. We 

hoped to find data that would support their theories and 

thus, perhaps, encourage higher standards of business 

behavior. To our surprise, their pet theories failed to stand 

up. Treachery, we found, can pay. There is no compelling 

economic reason to tell the truth or keep one’s word. 

Punishment for the treacherous in the real world is neither 

swift nor sure. Honesty is, in fact, primary a moral choice. 

Business people do tell themselves that, in the long run, 

they will do well by doing good. But there is little factual or 

logical basic preference of right over wrong, trust based on 

such delusion would crumble in the face of temptation. 

Most of us choose virtue because we want to believe in 

ourselves and because others respect and believe us. 

 Due to this, we should be happy. We can be proud of a 

system in which people are honest because they want to be, 

not because they have to be. Materially, too, trust based on 

morality provides great advantages. It allows us to join in 

great and exiting enterprises that we could never undertake 

if we relied on economic incentives alone. 

 Economists tell us that trust is enforced in the market 

place through retaliation and reputation. If you violated 

trust, your victim is apt to seek revenge and others are 

likely to stop doing business with you. A man or woman 

with a reputation for fair dealing will prosper. Therefore, 

profit maximisers are honest. This sound plausible enough 

until you look for concrete examples. Cases that apparently 

demonstrate the awful consequences of trust turn out to be 

few and weak, while evidence that treachery can pay seems 

compelling.  

78 : What did the author find out about the theory that 

‘honesty is the best policy? 

 1) It is correct on many occasions 

 2) It is a useless theory 

 3) It is correct for all business 

 4) It is a theory which seems to be correct only 

occasionally. 

 

 

 

 

79 : What is the material advantage which the author sees 

in being honest? 

 1) It permits one to undertake activities which may 

not be economically attractive. 

 2) It permits one to be honest for the sake of honesty 

alone. 

 3) It permits one to make a lot of profit in various 

areas. 

 4) It permits one to form various trusts to make 

profits. 

80 : Which of the following is ‘false’ according to the 

passage? 

 1) Generally people are honest so as to earn self 

respect. 

 2) Economists believe that all businessmen are 

dishonest 

 3) Virtuous behavior earns the respect of others. 

 4) All dishonest men are not caught 

 

Question nos. 81 to 83 : 
 The following three questions are based on a Passage in 

English to test the comprehension of English Language and 

therefore both the Passage and the questions on it do not 

have Marathi version. Read the following passage 

carefully and answer the questions that follow. 

 nwT>rb VrZ àíZ B§J«Or ^mfoMr g_O VnmgÊ`mgmR>r Agë`mZo 
n[aÀN>oX d Ë`mdarb àíZm§Mo _amR>r ^mfm§Va XoÊ`mV Ambobo Zmhr. 
nwT>rb n[aÀN>oX H$miOrnyd©H$ dmMm d Ë`mImbr {Xboë`m àíZm§Mr `mo½` 
CÎmao Úm. 
 

If you are thinking that the winter weather is coming and 

you are bound to catch cold, you are not developing mental 

strength. You have already committed yourself to certain 

weakness. When you feel you are susceptible to catching a 

cold menially resist it. This is the right mental attitude. In 

your heart, sincerely do your best at all times, but without 

anxiety. Worry only paralyses your efforts. If you do your 

best God will reach down his hand to help you. If you do 

not acknowledge weakness in the face of troubles and if 

you refuse to worry about your problems, you will find out 

how much more successful, peaceful and happy you are. 

Daily make this affirmations. I will be neither lazy nor 

feverishly active in  every challenge of life I shall do my 

best without worry about the future. Don’t grieve for what 

you don’t have. The most materially successful man may 

have the greatest worries and unhappiness. In contrast I 

have seen in humble little huts and caves in India men who 

were true monarches. The earthly “throne” of one such 

saint was a dried grass mat. He wore only 2 little loincloth. 

Such are the real kings of the earth. Some of them have no 

food, nothing at all they are richer than the world’s 

millionaires. In biting  cold weather, I saw one saint in the 

Himalayas who had nothing on. “Won’t you catch cold?” I 

said, sweetly he answered, “If I am warm with God’s love, 

how can I feel the cold”? Saints like him are greater than 

any crowned king. If without food, without any visible 

means of security, such men can be like kings, peaceful and 

without worry, why can’t you ? 
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81 : What according to the passage, will make you happy 

and successful. 

 1) Not grieving over what you have or don’t have 

 2) Not being too rash in behaviour. 

 3) Not getting too much concerned about your 

problems. 

 4) Not allowing your mind to withdraw in a shell. 

82 : Which of the following is similar in meaning to the 

world ‘affirmation’ as used in the passage? 

 1) Proclamation 2) resolution 

 3) pretention  4) dedication 

83 : When, according to the passage, can you be considered 

to have developed a mental weakness? 

 1) When calm and cool disposition deserts you. 

 2) When you do not realise that God resides within  

you. 

 3) When you allow your mind to get possessed with 

worry about an incoming problem 

 4) When you do acknowledge weakness in the face of 

troubles.  
 

Directions for following 7 questions : Given below are 

seven questions describing a situation and is followed by 

four possible responses. Indicate the response you find the 

most appropriate. Choose only one response for each 

question. The responses will be evaluated based on the 

level of appropriateness for the given situation. 

  Please attempt all the questions. There is no penalty 

for wrong answers for these seven quetions. 

nwT>rb gmV àíZm§gmR>r gwMZm : Imbr gmV àíZ {Xbo AmhoV Á`mV 
àË`oH$s EH$ KQ>Zm {Xbr Amho Am{U Ë`mZ§Va Mma à{V[H«$`m {Xë`m 
AmhoV. Vw_À`m Ñï>rZo Ë`mVrb gdm©V `mo½` à{V{H«$`m Zm|Xdm. àË`oH$ 
àíZmH$arVm EH$M n`m©` {ZdS>m. CÎmam§Mo _yë`m§H$Z, {Xboë`m KQ>Zo 
g§X^m©V Cn`mo{JVoÀ`m ñVamda Ho$bo OmB©b. 
H¥$n`m gd© àíZm§Mr CÎmao Úm. `m gmV àíZm§À`m MwH$sÀ`m CÎmamgmR>r 
H$moUVmhr X§S> Ho$bm OmUma Zmhr.  
Question no. 84 : You are working as a clerk in some 

office and you have been recently trasnfered to some other 

place. After joining the work at new place you come to 

know that the working staff, clerks come late to the office, 

try to avoid the work and do not take interest in doing the 

work. Because of their such behaviour, you find that your 

work and your efficiency is indirectly getting affected. 

What will you do in this situation ? 
 1) You will seek an explanation from all other about 

this. 

 2) You will bring to their notice the bad effects that 

are created due to their behaviour. 

 3) Continue to work honestly. 

 4) Lodge a complaint with your higher officer. 

àíZ H«$. 84 : Vwåhr EH$m H$m¶m©b¶mV {bnrH$ åhUyZ H$m¶©aV AmhoV d 
Vw‘Mr ZwH$VrM Xþgè¶m {R>H$mUr ~Xbr Pmbobr Amho. ZdrZ {R>H$mUr 
Joë¶mda Vwåhmbm AmT>iVo H$s, VoWrb BVa {bnrH$ d H$‘©Mmar CeramZo 
H$m¶m©b¶mV ¶oVmV, H$m‘mV Q>mimQ>mi H$aVmV d H$m‘mV ’$magm ag KoV 
ZmhrV. Ë¶m§À¶m Aem dV©Zm‘wio Vw‘À¶m H$m‘mda d H$m¶©j‘Vodahr 
àË¶j d AàË¶jnUo à^md nS>V Amho. Aem àg§Jr Vwåhr H$m¶ H$amb? 
 1) BVa gd© H$‘©Mmè¶m§Zm ¶mg§~§Yr Om~ {dMmamb. 
 2) BVa gd© H$‘©Mmè¶m§Zm Ë¶m§À¶m Aem dV©ZmÀ¶m Xþîn[aUm‘m§Mr 
    OmUrd H$ê$Z {Xb. 
 3) Amnmnbo H$m‘ àm‘m{UH$nUo H$aV ahmb. 
 4) d[að>m§H$S>o ¶m àH$aUmMr VH«$ma H$amb. 

Question no. 85 : You have received a complaint about 

your junior officer. It indicates that he is neglecting his 

work and never completes his work on time. What will you 

do under such condition? 
 1) You will call that officer to meet you, inform him 

about the complaint that you have received about 

him and ask him to give an explanation. 

 2) You will issue written notice to that officer asking 

to give a written explanation. 

 3) Suspend that junior immediately and report 

accordingly to your higher authorities. 

 4) Ask that junior officer to proceed on compulsory 

leave and then initiate an enquiry about him. 

àíZ H«$. 85 : Vw‘À¶m EH$m H${Zð> A{YH$mè¶m{df¶r Vwåhmbm EH$ VH«$ma 
àmá Pmbobr Amho. VH«$marV Ago åhQ>bo Amho H$s, Ë¶mMo Ë¶mÀ¶m 
H$m‘mH$S>o Xþb©j hmoV AgyZ Vmo doioda H$m‘ nyU© H$aV Zmhr. Aem àg§Jr 
Vwåhr H$m¶ H$amb? 

 1) Ë¶m A{YH$mè¶mg àË¶j ~mobmdyZ Ë¶mbm g§~§YrV VH«$mar~Ôb 
gm§Jmb d Ë¶mbm ñnï>rH$aU XoÊ¶mg gm§Jmb. 

 2) Ë¶m A{YH$mè¶mg àË¶j boIr ZmoQ>rg nmR>dyZ Ë¶mÀ¶mH$Sy>Z 
CÎma, ñnï>rH$aU ‘mJmb. 

 3) Ë¶m H${Zð> A{YH$mè¶mg VmËH$mi {Zb§{~V H$amb d Vgm 
Ahdmb d[að>m§H$S>o nmR>dmb. 

 4) g§~§YrV H${Zð> A{YH$mè¶mg VmËH$mi g³VrÀ¶m aOoda 
nmR>dyZ Ë¶mMr Mm¡H$er H$amb. 

Question no. 86 : You had applied for an electricity meter 

in you house. It has been almost 2 months, but the 

electricity meter has not been installed in your house. So, 

after waiting for 2 months, you try to find out the reasons 

for its non–installation. After making enquiries, you find 

that there was something wrong with the information you 

filled up in the from. To sort it out, you went to the office 

of Electricity Board and found that nothing was wrong with 

the information. And when questioned, the concerned clerk 

replied that it was just a plain oversight. Now, how will you 

respond? 
 1) By reporting to the head 

 2) By filing a written complaint 

 3) By ignoring it because you know how things work 

in government offices 

 4) By talking to a tout outside, so that your 

electricity meter can be installed. 

àíZ H«$. 86 : Vwåhr KamV drO {‘Q>a {‘imdo åhUyZ AO© Ho$bm hmoVm. 
Ë¶mbm XmoZ ‘{hZo hmoD$Z Jobo AmhoV. Var Vw‘À¶m Kar {‘Q>a ~g{dbobm 
Zmhr. {‘Q>a Z ~g{dÊ¶mÀ¶m H$maUm§Mm emoY KoVbm AgVm Vw‘À¶m Ago 
bjmV Ambo H$s Vwåhr Ë¶m g§~§{YMm ’$m°‘© ^aVmZm Vwåhr H$mhr ‘m{hVr 
^aÊ¶mV MwH$m Ho$ë¶m hmoË¶m. Vo gd© Xþê$ñV H$aÊ¶mgmR>r Vwåhr drO 
~moS>m©À¶m Am°{’$g‘Ü¶o Jobm AgVm Ago {XgyZ Ambo H$s Vw‘Mr gd© 
‘m{hVr ~amo~a Amho, H$gbrM MyH$ Ë¶mV ZìhVr. g§~§{YV H$maHw$Zmbm 
Vwåhr Ë¶mMm Om~ {dMmabm AgVm Vmo åhUmbm H$s Ho$di ZOaMwH$sZoM 
Ago KS>bo Amho. Aemdoir Vwåhr H$m¶ H$amb ? 

 1) VoWrb d[að>m§À¶m {ZXe©Zmg ho gd© AmUmb. 
 2) ¶m g§X^m©V boIr VH«$ma H$amb. 
 3) gaH$mar H$m¶m©b¶ åhQ>bo H$r Ago hmoUmaM åhUyZ Vwåhr 

¶mH$S>o Xþb©j H$amb. 
 4) H$m¶m©b¶m ~mhoaÀ¶m EImÚm Xbmbmbm JmRy>Z {‘Q>aMo H$m‘ 

H$ê$Z ¿¶mb. 
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Question no. 87 : You are a Senior Police officer. You had 

sent your subordinate officer on some work by jeep. The 

driver and the constable in the jeep are unarmed. On the 

way, they happen to notice a jeep in broken condition. A 

few persons sitting inside it ask for help. When one of your 

subordinate gets down to help those persons, he is attacked 

from behind by a gang of criminals. They looted him and 

escape quickly with the persons sitting inside the car which 

was in fact in running condition. The subordinate officer is 

charged for his negligence. Now you as a senior officer will  
 1)  suspend him for his lack of common sense 

 2) frame charges against him for stopping the jeep 

mid–way 

 3) not hold  him responsible for this accidental 

happening  

 4) accuse him of not being precautious. 

àíZ H«$. 87 : Vwåhr EH$ d[að> nmobrg A{YH$mar AmhmV. Vwåhr Vw‘À¶m 
hmVmImbÀ¶m A{YH$mè¶mbm EH$m H$m‘mgmR>r Orn XoD$Z nmR>{dbo Amho. 
Orn‘Yrb MmbH$ Am{U nmobrg ¶m XmoKm§Odi hË¶ma Zmhr. añË¶mV 
OmVmZm Xþgar EH$ Orn ZmXþê$ñV Pmë¶mMo Ë¶m§À¶m bjmV Ambo. 
Orn‘Yrb H$mhr bmoH$m§Zr Ë¶m§À¶mH$S>o ‘XVrMr Anojm Ho$br. Vw‘Mm 
A{YH$mar Orn‘YyZ CVê$Z Ooìhm Ë¶m§À¶m ‘XVrbm Jobm Ë¶mMdoir 
‘mJyZ H$mhr JwÝhoJmar bmoH$m§Zr Ë¶mÀ¶mda hëbm H$ê$Z Ë¶mbm bwQ>bo, 
Am{U Vo gd©OU IaoVa Mmby Agboë¶m Orn‘Yrb bmoH$m§g‘doV VoWyZ 
nimbo. Vw‘À¶m A{YH$mè¶mda hbJOunUmMm Amamon hmoV Amho. Aemdoir 
EH$ d[að> A{YH$mar åhUyZ Vwåhr H$m¶ H$amb ?  
 1) gmamgma {dMma Ho$bm Zmhr åhUyZ Vwåhr Ë¶mbm ~S>V’©$ 

H$amb. 
 2) Ë¶mÀ¶mda H$maU ZgVmZm Orn añË¶mV Wm§~{dÊ¶mMm Amamon 

R>odmb. 
 3) Om H$mhr AZno{jV àH$ma KS>bm Ë¶mgmR>r Vwåhr 

A{YH$mè¶mg O~m~Xma YaUma Zmhr. 
 4) {ZîH$miOrnUo dmJë¶m~Ôb Vwåhr Ë¶mbm Xmof Úmb. 
Question no. 88 : A district library in your town is facing 

numerous problems. The books are eating dust. It is too 

noisy and also dirty inside and outside the library. There is 

not staff to maintain the books or rooms to keep them in 

safe custody. You are a regular visitor to the library, but 

have stopped going to the library, because of above 

problems. Even after some days, when you saw the library, 

it was under the same conditions. Now, you will ..... 
 1) write a detailed letter to the Ministry of Culture 

and ask the ministry to improve the library. 

 2) not take any action as you know that no 

concerned authority is going to take care of it. 

 3) write a letter to the local newspaper to make a 

detailed report on the problems faced by library 

 4) Both 1 and 3 

àíZ H«$. 88 : Vw‘À¶m ehamVrb {Oëhm J«§Wmb¶mbm AZoH$ g‘ñ¶m§Zm 
Vm|S> Úmdo bmJV Amho. nwñVH$m§da Yyi gmMbobr Amho, VoWo Iyn Jm|JmQ> 
Amho, Ë¶mÀ¶m AmV Am{U ~mhoa Iyn KmU gmMbobr Amho. VgoM 
nwñVH$m§Mr Zm|X R>odÊ¶mgmR>r bmJUmam H$‘©Mmar dJ© VgoM nwaoer OmJm 
Zmhr. Vwåhr Ë¶m J«§Wmb¶mV Zoh‘r OmV hmoVm nU ¶m g‘ñ¶m§‘wio Vwåhr 
{VWo OmUo ~§X Ho$bo Amho. AmUIr H$mhr {Xdgm§Z§Vahr J«§Wmb¶mMr 
pñWVr nyduà‘mUoM Agë¶mMo Vw‘À¶m bjmV Ambo. AmVm Vwåhr H$m¶ 
H$amb ? 

 1) gm§ñH¥${VH$ ‘§Ìmb¶mg EH$ g{dñVa nÌ {bhÿZ J«§Wmb¶mMr 
n[apñWVr gwYmaÊ¶mg gm§Jmb. 

 2) Hw$Urhr bj XoUma Zmhr Ago dmQ>ë¶mZo Vwåhr H$mhr H$aUma 
Zmhr. 

 3) J«§Wmb¶m~m~V Agboë¶m g‘ñ¶m§Mr g{dñVa ~mV‘r ‘¶mg 
H$aÊ¶mgmR>r ñWm{ZH$ dV©‘mZnÌmg EH$ nÌ {bhmb. 

 4) 1 d 3 XmoÝhr 
Question no. 89 : You are the incharge of a quiz contest in 

which only children below 14 yr of age can participate. You 

received an entry in which the age of the child was 14 yr 

and 1 day. This child is the son of the local MP. You are 

unable to decide what to do. In such a situation, you will... 

 1) allow the MPs son to participate as he is crossing 

the age limit by just 1 day 

 2) not allow him to participate as the rules are for 

all 

 3) request the MP to take his son’s entry form back. 

 4) edit his age in the form and write it as under 14 

so as to impress the MP. 

àíZ H«$. 89 : Mm¡Xm df} d¶mn¶ªVÀ¶m ‘wbm§gmR>r Agboë¶m EH$m 
àíZ‘§OyfoÀ¶m ñnY}gmR>r Vwåhr {Z¶§ÌH$ åhUyZ H$m‘ H$arV AmhmV. 
Vwåhmbm EH$ AmdoXZ Ago {‘imbo H$s Á¶m‘Ü¶o ‘wbmMo d¶ Mm¡Xm df} 
Am{U 1 {Xdg hmoVo. Vmo ‘wbJm ñWm{ZH$ ImgXmamMm ‘wbJm hmoVm. 
Vwåhmbm H$m¶ H$amdo ho gwMV ZìhVo. Aem n[apñWVrV Vwåhr ... 
 1) ’$³V EH$ {XdgmZo d¶mo‘¶m©Xm Amobm§S>V Agë¶mZo 

ImgXmamÀ¶m ‘wbmg ^mJ KoÊ¶mg nadmZJr Úmb. 
 2) {Z¶‘ ho gdmªgmR>r Agë¶mZo Ë¶mbm ^mJ KoÊ¶mg nadmZJr 

XoUma Zmhr. 
 3) ImgXmam§Zm Ë¶m§À¶m ‘wbmMo AmdoXZ nÌ ‘mJo KoÊ¶mMr {dZ§Vr 

H$amb. 
 4) ImgXmam§Zm à^m{dV H$aÊ¶mgmR>r Ë¶mMo d¶ ~XbyZ Vo Mm¡Xm 

dfm©nojm H$‘r XmIdmb. 
Question no. 90 : You are working in the public 

Distribution System as its Head. On an inspection in a 

village, you come across a case wherein an old poor man is 

unable to submit his ration card and claim ration to meet his 

basic necessity of life. You will ...... 
 1) go strict as per the procedures 

 2) take initiatives to make to arrangement of an 

alternative ration card for the poor man 

 3) assist the poor man with some money on your 

own, but should not compromise on procedures 

 4) avoid some procedural steps, since you 

understand the necessity of the poor man 

àíZ H«$. 90 : Vwåhr EH$m gmd©O{ZH$ {dVaU àUmbrMo à‘wI åhUyZ 
H$m‘ H$arV AmhmV. EH$m IoS>çmV VnmgUr H$arV AgVmZm 
Vw‘À¶mg‘moa Ago Ambo H$s EH$ Jar~ åhmVmam aoeZH$mS>© XoD$ eH$V 
Zmhr d Ë¶m‘wio Ë¶mbm Ë¶mÀ¶m OrdZmdí¶H$ JaOm ^mJ{dÊ¶mgmR>r 
Amdí¶H$ Vo ñdñV YmÝ¶ {‘iy eH$V Zmhr. Aemdoir Vwåhr ...... 
 1) {Z¶‘m§Mo H$mQ>oH$moa nmbZ H$amb. 
 2) Ë¶m Jar~ ‘mUgmbm Xþgao aoeZ H$mS>© {‘idyZ XoÊ¶mgmR>r 

nwT>mH$ma ¿¶mb. 
 3) Ë¶m Jar~ ‘mUgmbm Vw‘Mo ñdV…Mo$ H$mhr n¡go ‘XV åhUyZ 

Úmb na§Vy {Z¶‘mà‘mUoM H$m‘ H$amb. 
 4) Ë¶m Jar~ ‘mUgmMr JaO bjmV KoVm H$mhr {Z¶‘ {eWrb 

H$amb. 
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PART – III / ^mJ - 3 
Write an essay on ANY ONE of the following topics in 

about 600 to 650 words. 

Imbrbn¡H$s H$moUË¶mhr EH$m {df¶mda 600 Vo 650 eãXm§V {Z~§Y 
{bhm. 

NOTE : Separate answersheet will be provided for 

writing an essay at 1.00 pm. 

gyMZm … {Z~§YboIZmgmR>r doJir CÎman{ÌH$m Xþnmar 1 dmOVm 
XoÊ¶mV ¶oB©b. 

 

1. Democracy in India – Is it an utter failure ? 

2. Globalization : Dangers in future. 

3. Right to Information Act – India’s second freedom. 

4. Mid-day Meal Scheme in schools - Is it justified ? 

5. A country that neglects talent, ultimately dooms. 

 

1. ^maVmVrb bmoH$emhr - EH$ nyU© An¶e Ago åhUmdo H$m ? 
2. OmJ{VH$sH$aUmMo YmoaU - ^{dî¶H$mimVrb YmoHo$ 
3. ‘m{hVr A{YH$ma H$m¶Xm - ^maVmMo Xþgao ñdmV§Í¶  
4. emim§‘Yrb ‘Ü¶mÝh ^moOZ ¶moOZm - g‘W©Zr¶ Amho H$m ? 
5. Omo Xoe àkmd§Vm§H$S>o Xþb©j H$aVmo, Vmo agmVimbm OmVmo. 
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 Omon ª̀V Vwåhmbm gm§{JVbo OmV Zmhr Vmon ª̀V hm àíZg§M CKSy> ZH$m. 
 

S>m°. Am§~oS>H$a ñnYm© narjm H|$Ð, `eXm, nwUo 
`m§À`mH$arVm 

àkm emoY d gdm}ËH¥$ï>Vm H|$Ð, Zm¡. dm{S>`m _hm{dÚmb`, nwUo 
`m§Zr Am`mo{OV Ho$bobr 

àdoe narjm 
doi : VrZ Vmg                                                                                 A{YH$V_ JwU : 300 

gyMZm 
1. narjm gwê$ Pmë`mZ§Va bJoMM øm àíZg§MmV H$mhr nmZo H$moar qH$dm \$mQ>bobr AmhoV H$m qH$dm H$mhr nmZo qH$dm àíZ Jhmi Pmbo AmhoV 

H$m ho Vnmgm. Vgo Agë`mg øm àíZg§MmEodOr ZdrZ àíZg§M ¿`m. 

2. ~mOybm {Xboë`m Mm¡H$moZmV Vw_Mm narjm H«$_m§H$ {bhm. Ë`m ì`{V[aŠV `m àíZg§Mmda H$mhr {bhÿ ZH$m. 

3. `m àíZg§MmV EHy$U VrZ ^mJ Imbrbà_mUo {d^mJbobo AmhoV.  

 EHy$U 
àíZ 

JwU àíZm§Mo ñdê$n MwH$sÀ`m CÎmamgmR>r X§S> 

^mJ - 1 50 100 dñVw{Zð> àË`oH$ MwH$sÀ`m CÎmamgmR>r EH$ V¥{V`m§e JwUm§Mm X§S> 

^mJ - 2 40 100 dñVw{Zð> à. H«$. 84 Vo 90 ì`{V[aŠV àË`oH$ MwH$sÀ`m CÎmamgmR>r EH$ V¥{V`m§e JwUm§Mm X§S 

^mJ - 3 1 100 {Z~§Y boIZ - 

àË`oH$ àíZ B§J«Or Am{U _amR>r _Ü`o N>mnbobm Amho. à. H«$. 78 Vo 83 ho B§J«Or ^mfoMr g_O VnmgÊ`mgmR>r Agë`mZo Vo \$ŠV B§J«OrV 
N>mnbo AmhoV. àË`oH$ àíZmbm Mma n`m©` {Xbobo AmhoV. Ë`mn¡H$s Agm EH$ n`m©` {ZdS>m H$s Omo Vwåhmbm CÎman{ÌHo$da Zm|Xdm`Mm Amho. Oa 
Vwåhmbm EH$mnojm A{YH$ n`m©` ~amo~a dmQ>V AgVrb Va Ë`mVrb Vwåhmbm dmQ>Umam gdm©V `mo½` n`m©` Zm|Xdm. H$moUË`mhr àíZmgmR>r Ho$di 
EH$M n`m©` {ZdS>m. 

4. gd© 90 dñVw{Zð àíZm§Mr CÎmao (^mJ 1 d 2) gH$mir 11 Vo Xþnmar 1 ¶m doioV Vwåhmbm Ë¶mgmR>r {Xboë`m ñdV§Ì CÎman{ÌHo$daM Zm|Xdm`Mr 
AmhoV.  

5. dñVw{Zð àíZm§Mr CÎman{ÌH$m Xþnmar 1 dmOVm naV KoVbr OmB©b d {Z~§Y boIZmgmR>r (^mJ - 3) doJir CÎman{ÌH$m XoÊ¶mV ¶oB©b. 
{Z~§YboIZmMr doi Xþnmar 1 Vo 2 Agob. Xþnmar 2 dmOVm {Z~§YboIZmMr CÎman{ÌH$m Vw‘À¶mH$Sy>Z naV KoVbr OmB©b. H$moUË¶mhr 
n[añWrVrV dñVw{Zð> àíZm§Mr CÎmao Xþnmar 1 Z§Va {b{hVm ¶oUma ZmhrV d {Z~§YboIZ Xþnmar 1 nydu gwê$ H$aVm ¶oUma Zmhr.   

6. CÎman{ÌHo$da n`m©` Zm|X{dÊ`mnydu Vwåhmbm CÎman{ÌHo$da {d{eï>>_m{hVr ^am`Mr Amho. hr _m{hVr Vwåhmbm {Xboë`m àdoe n{ÌHo$da Amho. 

7. gd© àíZm§Mo n`m©` Zm|XdyZ nyU© Pmë`mZ§Va Am{U narjm g§në`mZ§Va Vwåhmbm n`©dojH$m§H$S>o \$ŠV CÎman{ÌH$m Úmd`mMr Amho. hm àíZg§M 
KodyZ OmÊ`mg Vwåhmbm nadmZJr Amho. Xþnmar 12 dmOÊ¶mnydu Vwåhr narjmH$jmVyZ ~mhoa OmD$ eH$Uma Zmhr. 

8. H$ÀMo H$m_ H$aÊ`mgmR>r `m àíZg§MmÀ`m eodQ>r H$mhr OmJm {Xbr Amho. 

9. MwH$sÀ`m CÎmamH$arVm X§S> : 

      àíZn{ÌHo$_Ü`o àíZ H«$_m§H$ 84 Vo 90 ì`{V[aŠV ^mJ 1 d ^mJ 2 ‘Yrb BVa àíZm§Mo MwH$sMo CÎma Zm|X{dUmè`m narjmWvZm X§S> Ho$bm  

     OmB©b. àíZ H«$_m§H$ 84 Vo 90 `m àíZm§À`m MwH$sÀ`m CÎmam§gmR>r X§S> Ho$bm OmUma Zmhr. 

i) àË`oH$ àíZmbm Mma n`m©`r CÎmao {Xbr AmhoV. narjmÏ¶m©Zo {Xboë`m àË`oH$ MwH$sÀ`m CÎmamgmR>r Ë`m àíZmbm Agboë`m JwUm§À`m 
EH$ V¥{V`m§e JwU X§S> åhUyZ H$mnbo OmVrb. 

ii) Oa narjmÏ¶m©Zo EH$m àíZmgmR>r EH$mnojm OmñV CÎmao Zm|X{dbr Va Oar Ë`mVrb EImXo CÎma ~amo~a Agob Varhr Vo CÎma MwH$sMo 
_mZbo OmB©b d Ë`mgmR>r darbà_mUo X§S> Ho$bm OmB©b. 

iii) Oa EImÚm àíZmMo CÎma Zm|X{dboM Zmhr Va Ë`m àíZmgmR>r H$moUVmhr X§S> Ho$bm OmUma Zmhr.  

10.  `m narjoMm {ZH$mb {X. 31.12.2013 amoOr qH$dm Ë¶mZ§Va Am_À`m www.yashada.org/acec `m do~gmB©Q>da Kmo{fV Ho$bm OmB©b. 

 Omo n ª̀V Vwåhmbm gm§{JVbo OmV Zmhr Vmon ª̀V hm àíZg§M CKSy> ZH$m. 

Note : English version of the instructions is printed on the front cover of this Booklet.

 


